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Question Number : 1 Question Id : 5406266230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MT, OW, QZ, SC, ?
Options :
1. ¥ UF
2. % VF
3. % UE
4. % VE

Question Number : 1 Question Id : 5406266230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau U fasedt & O o 9e! fawed gg, S 3 gehH &l 1 &R

MT, OW, QZ, SC, ?
Options :
1. ¥ UF
2. % VF
3. ®* UE
4. % VE

Question Number : 2 Question Id : 5406266231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

GR16, MV33,S767, YD135, ?
Options :

1. ® EI271

2. % EH271

3. #* FI1269

4. % FH270

Question Number : 2 Question Id : 5406266231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fawed g, St 3igehd o T |

GR16,MV33, S267, YD135,?
Options :

1. # EI271

2. ¥ EH271

3. * FI269



4. = FH270

Question Number : 3 Question Id : 5406266232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

GRAB, MLGV, SFMP, YZRJ, ETYD
Options :

1. ®* MLGV

2. % SFMP

3. ®* ETYD

4, ¥ YZR]

Question Number : 3 Question Id : 5406266232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fea T 8, ford § U ug Tad ¢ | 3T T fawed! & 9 39 7Tad U &I gfu|

GRAB, MLGV, SFMP, YZRJ, ETYD
Options :

1. ®* MLGV

2. % SFMP

3. * ETYD

4. ¥ YZR]

Question Number : 4 Question Id : 5406266233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MLKI11, TTG22, ABC44, HJYS8S, ?
Options :



1. ®* ORVI166
2. ¥ ORU176
3. ¥ PRUI176
4. % OSU166

Question Number : 4 Question Id : 5406266233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g B | Fw T et A & o8 U8 Reed g, S g B R AR

MLKI11, TTG22, ABC44, HJY88, ?
Options :

1. % ORV166

2. % ORU176

3. ¥ PRU176

4. % OSU166

Question Number : 5 Question Id : 5406266234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. % Red

2. % Yellow

3. ¥ Colour

4. % White

Question Number : 5 Question Id : 5406266234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad vy # it 7T fowedl & § faud Trsg &1 9T

Options :



1. % &1
2. % e
3.

4. % ghg

Question Number : 6 Question Id : 5406266235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. * Doctor — Profession

2. % Colour — Red

3. # Table — Furniture

4. % Wheat — Crop

Question Number : 6 Question Id : 5406266235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy # i e fowedl 7 9 fawd 2rsg g™ &1 9T
Options :

1. % ffbce — oaar

2. ¢ T -d|

3. % TS - BrleR

4. % g - HOd

Question Number : 7 Question Id : 5406266236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) are related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :
1. # GRAP -NZJZ



2. % LNJP-SVSZ
3. ¥ RMLA - YVUK
4. % ATFG - HBOQ

Question Number : 7 Question Id : 5406266236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR feumu Uy §, IR 3eR g feu M B () & afY 3R ol T 31eR () F ol SR a8 M 3rer ¥ fardt b/ MawiEy @ Tefia g1 diF
I TH qh/Mar/AEY & YR IR 99 & | 3T T8 fawen & ¥ fawd &1 gfu|

Options :

1. ®# GRAP -NZJZ

2. % LNJP-SVSZ

3. ¥ RMLA - YVUK

4. % ATFG - HBOQ

Question Number : 8 Question Id : 5406266237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. #* SYYF

2. % WCCJ

3. FLLU

4. % VBBI

Question Number : 8 Question Id : 5406266237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad vy & fau T faswedl 4 9 fawd sieR/sieRt &1 9T
Options :

1. % SYYF

2. % WCCJ



3. ¥ FLLU
4. % VBBI

Question Number : 9 Question Id : 5406266238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Vehicle : Car :: Colour : ?
Options :

1. # Night

2. ¥ Yellow

3. # Chair

4. % Wall

Question Number : 9 Question Id : 5406266238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e faweat & § defda wsal &1 gful

qreT : PR :: [ : 2
Options :

Question Number : 10 Question Id : 5406266239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

ANP : DQU :: GMF : ?



Options :
1. ¥ JPK
2. % JQK
3. % KQK
4. % KPR

Question Number : 10 Question Id : 5406266239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowedt & @ Sefda sieri &1 gfu|

ANP : DQU :: GMF : ?
Options :

1. ¥ JPK

2. % JQK

3. % KQK

4. % KPR

Question Number : 11 Question Id : 5406266240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(GMK, JRR, MWY)
Options :

1. % (FAB, IFG, LKL)
2. ¥ (RMT, URA, XWH)
3. # (KPA, NUW, QZC)
4. % (BGT, ELY, HQS)

Question Number : 11 Question Id : 5406266240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o, 31ert &1 Ue Wig fear T 8 | U g & 31&R 34! THg & 3R] & r fovg ddb /Mo /idy ¥ defia g1 fed e
faemedl T T 31&Rl B U THE P! T Sl THM dob/[HaH/ e BT IR0 Sl 8|

(GMK, JRR, MWY)
Options :

1. # (FAB, IFG, LKL)

2. ¥ (RMT, URA, XWH)
3. # (KPA, NUW, QZC)
4. % (BGT, ELY, HQS)

Question Number : 12 Question Id : 5406266241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

FRAM : IVFS :: ?
Options :

1. % ROMI : USRN
2. % AGTL : DKZR
3. ¥ MFLK : PJQQ
4. % FIRM : IXVS

Question Number : 12 Question Id : 5406266241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy & fu 7Tu fosmedl B 9 Hafdd 3feR g &l gHu|

FRAM : IVES :: ?
Options :

1. # ROMI : USRN
2. % AGTL : DKZR
3. % MFLK : PJQQ



4. * FIRM : IXVS

Question Number : 13 Question Id : 5406266242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MOG’ is written as ‘35°, “TIP’ is written as ‘45°. What is the code for ‘RAM’ in that code language?
Options :

1.9 32

2. % 31

3. % 34

4. % 33

Question Number : 13 Question Id : 5406266242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafRIy B WINT H, ‘MOG’* B *35° T ST 8, “TIP B *45° RGN STl B 1 $9 IS HINT H ‘RAM’ BT DTS R 67
Options :

1.9 32

2. % 3]

3. % 34

4. % 33

Question Number : 14 Question Id : 5406266243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MINTO’ is written as ‘48321°, ‘TORND? is written as ‘21736°. What is the code for ‘RMND’ in that code language?
Options :

1. ¥ 7436

2. % 7486

3. % 7468

4. % 2436



Question Number : 14 Question Id : 5406266243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfRTS HIS U &, “MINTO” BT 48321 fIRaT ST 8, “TORND’ B! 21736’ fora] ST 8| $H B U H ‘RMND’ HT HIS F1 57
Options :

1. ¥ 7436

2. % 7486

3. % 7468

4. % 2436

Question Number : 15 Question Id : 5406266244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MONKEY" is written as ‘BHNQRP’. What is the code for ‘RAIDED’ in that code language?
Options :

1. ¥ GIGLDU

2. ¥ GHGLDU

3. ¥ GHGFEU

4. * GHGLDV

Question Number : 15 Question Id : 5406266244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy ®Ig HIWT H, ‘MONKEY’ &1 ‘BHNQRP’ foraT SId1 § 1 9 BIS HINT H ‘RAIDED’ &1 IS T 82
Options :

1. = GIGLDU

2. ¥ GHGLDU

3. % GHGFEU

4, % GHGLDV

Question Number : 16 Question Id : 5406266245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Roses are red’ is written as ‘@ # M’, ‘Men are great’ is written as ‘M G tr’, ‘Roses red great’ is written as ‘G @ #’.
What is the code for ‘Red great men’ in that code language?

Options :

1. % GMtr
2.¥ Gtr@
3.8 GM#
4. 8 rM #

Question Number : 16 Question Id : 5406266245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uoh fafRIY ®Ig UMNT T, ‘Roses are red’ I ‘@#HM’ %I@TWIHT%, ‘Men are great’ DI MG tr ﬁ‘l@T\_ﬂﬁT%, ‘Roses red great’ PG @# feran
Gﬂ?ﬂ%l sﬂmﬂ-ﬂ'ﬁﬂﬁ ‘Red great men’ WWW%‘7

Options :

. % GMtr

2.¥Gtr@

3. GM#

4, F trM #

Question Number : 17 Question Id : 5406266246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FRIGHTED?’ is written as ‘JLUIGHWK’. What is the code for ‘MANKINDS’ in that code language?
Options :

1. ¥ NQDPVGQL

2. ®* NQDQVGQL

3. % NQDPUGQL

4. ¥ NRDPVGQL

Question Number : 17 Question Id : 5406266246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U fAfIY &1s HIWT & FRIGHTED’ 1 JLUIGHWK* foIRaT SITaT 81 39 IS HINT H ‘MANKINDS’ 1 HIg T 82
Options :

1. ¥ NQDPVGQL

2. % NQDQVGQL

3. # NQDPUGQL

4. % NRDPVGQL

Question Number : 18 Question Id : 5406266247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students A, J, K, R and P are sitting in a row facing towards north. J is third to the left of P. K is third to the right of A. P is sitting at one of
the ends. How many students are sitting between P and R?

Options :
1.¥1
2. % 2
3.% 3
4. %0

Question Number : 18 Question Id : 5406266247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O BH A, J, K, R TUT P TS Ufad H SR &1 3R T@ Hh 96 U1 J, P & a1l IR ARRI B 1 K, A & g1l iR R g1 P fondil U BR
TR ST E3AT ]| P AT R & T fhd B 96 §UR?

Options :

1.¥ 1

2.% 2

3.% 3

4. %0

Question Number : 19 Question Id : 5406266248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

6 boys B1, B2, B3, B4, B5 and B6 likes one car among C1, C2, C3, C4, C5 and C6. B2 don’t like even numbered car. B3 likes either C3 or C4.
B6 likes C1. B4 likes a car having even number less than 4. If B1 likes C5, then which of the following combination of boy and car is/are
correct?

[.B6 -Cl1
II. B3 -C3

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. #® Neither I nor II

Question Number : 19 Question Id : 5406266248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TSI B1, B2, B3, B4, B5 AUT B6 BI C1, C2, C3, C4, C5 AU C6 H T Uh HR TS g1 B2 P! JH TJT dTell SR UGS Tai g B3 B ATl
C3 T C4 THS 81 B6 BT C1 UHG g1 B4 BT 4 J HH TH T aTcl R NS 8| TG B1 Y 5 TG 8, O AT dUT HR &1 Hafafaa d 3
HH 91/ Yo T8l B/80

I.B6-Cl1
II. B3-C3

Options :

1. Had |
2. % HAdII
3. % [ UGl
4. % qGIIATR I

Question Number : 20 Question Id : 5406266249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A team of 5 members is to be selected from 6 girls : G1, G2, G3, G4, G5 and G6 and 5 boys : B1, B2, B3, B4 and B5. Minimum two girls should

be in the team. G2 and B1 should be in the same team. G1 and G3 should not be in the same team. Only one among B1, G4 and B5 should be
selected. G5 cannot be selected with B3 or B2. Which of the following can be the members of the team?



I. B2, G4, B1, G2, G6

II. G6, G5, B1, G2, B4
I11. B2, G4, B4, G6, G5
IV. G4, G1, G2, B1, B3

Options :

1. % Il and III

2. % I, II and IV
3.9 Only I

4, % Only 1

Question Number : 20 Question Id : 5406266249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TSfBAN: G1, G2, G3, G4, G5 TUT G6 TUT 5 ASehI: B1, B2, B3, B4 AU BS H Y 5 Y& 1 Tb SH A &1 g | A A Y Al
sl g1 AMfeT 1 G2 IUT B1 UM < © 814 d1feT1 G1 YT G3 ¥HM S T Hg] 8- A1gUl B1, G4 TUT BS T T dhad Tds AT I
AMGTI G5 B B3 AT B2 & AT a1 AT off Tehdl § | FHfRad & 9 &H ¢H & 96 81 96hd 62

1. B2, G4, B1, G2, G6

1. G6, G5, B1, G2, B4
1. B2, G4, B4, G6, G5
IV. G4, G1, G2, B1, B3

Options :

1. % I dYUTIII

2. % LI dUTIV
3.9 had I

4. % Had

Mental Ability2

Group Number : 2
Group Id : 540626173
Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 540626252
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626291
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406266250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘R + M’ means ‘M is the father of R’, ‘R — M’ means is ‘M is the son of R’, ‘R x M’ means ‘M is the sister of R’, ‘R + M’ means ‘M is the
mother of R’, ‘R @ M’ means ‘M is the daughter of R’, then which of the following statement is/are correct about ‘P @ F - C+ R +D’?

I. R is the son of P
II. D is the mother of husband of F

Options :

1. % Only I

2.% Only II

3. % Bothland Il



4. % Neither [ nor 11

Question Number : 21 Question Id : 5406266250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g R+ M BT M, RBTAAT S, R - M BT 31 M, RETTAR, ‘R x M’ BT 31 ‘M, RBIFgT 77, ‘R + M’ BT 312 ‘M, R DI AW 7,
R@M B M,RPI g, A HII AT PTTMRA BT P@F-C+R+~D S IR H Tal /87

LR, PHITAR
I.D,F S Ufd Sl AT g

Options :

1. % Had 1

2. ¥ Had Il

3. % [QUT I gFl
4. % GBI

Question Number : 22 Question Id : 5406266251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some P are Q.
II. Some T are P.

Conclusions:
[.LNoQisT.
II. Some Q are P.

Options :
1. # Only conclusion I follows
2. ¥ Only conclusion II follows

3. #* Both conclusion I and II follows



4. % Neither conclusion follows

Question Number : 22 Question Id : 5406266251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T f3U T Uy & 8 U 3R IF 918 31 HUHI IR AUNG & 56y 3T T4 § 1 3T T w2 &1 981 aM, 918 S8 Qg J1d 9
3 frzrar g1t e o ofk fisR fReifa &% i fou o o @ fse, fou e sy & smyR &R gfaaia g

HY:
LPSP, QT
L. $ST,PEl

fsem:

158 Q, TRl &

IL. S Q, PRI

Options :

1. ® % [5HY [ 3IIRV HT 8

2. ¢ Had (BT 11 SR Rl §

3. % Gl FSHY 1 qT 11 SR Hvd &
4. % B 1} FIspy SFERU T BRaT g

Question Number : 23 Question Id : 5406266252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All F are B.
II. No Fis K.

Conclusions:
I. Some B are not K.



II. NoKisF.
I1I. Some B are not F.

Options :

1. # Both conclusion I and III follows
2. # All conclusion follows

3. # Only conclusion II follows

4. % Both conclusion I and II follows

Question Number : 23 Question Id : 5406266252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR UING & 56y 3T T4 § | 3T T 2= & 981 A, 918 S8 Qg I a2
3 oz 81t e o oik fsR fReifa & 6 fou o o1 3 s, fou U syl & smyR &R gfaasa g

DHY:
L9 E, BTl
11 ®s M F, K TS 8

fepy: o

I. , |
II.%%B‘J-?[KK, Fg gl
IIl. $& B, F el g

Options :

1. % QI FIShY [ T 111 SFJR0T R &
2. % it Frsh s SrRRUT Rl §

3. % Hhad fpY 11 IR0 FRl §

4. G FTSHY 1 T 11 3FIERUI $HRd §

Question Number : 24 Question Id : 5406266253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given



conclusion logically follows the given statements.

Statements:

I. Some L are M.
II. Some F are K.
III. Some L are F.

Conclusions:

I. All K are M.

II. Some M are F.
III. Some K are F.

Options :

1. # Neither conclusion follows
2. % All conclusion follows

3. % Only conclusion II follows

4. ¥ Only conclusion III follows

Question Number : 24 Question Id : 5406266253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 fou T Uy T @ U 3R 9P 918 I Bl IR MR & Fews fu MU g1 3T T Hy=i &1 9t 4M, =g 394 I J1d a2t
3 frzrar g1t e o ofk fisR fReifa &% i fou o o @ fse, fou e sy & smyR &R gfaaa g

HY:

LPSL MBI
IL. $S F, K gl
. S L,F gl

e

L9k, MBI

IL.FSM,FRI

.S K, F Rl

Options :

1. % B3 1t e SR T BT ?
2. % gt ISy SR0T xd §



3. % Had shY I IR0 Hdl §
4.« Had (ISHY 11 TR0 BT &

Question Number : 25 Question Id : 5406266254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoJisR.

II. No R is B.

III. Some A are R.

Conclusions:

I. Some A are not B.

II. Some A are not J.

III. Some R are not J.

Options :

1. ¥ All conclusion follows

2. % Both conclusion II and III follows
3. % Both conclusion I and II follows

4. % Both conclusion I and III follows

Question Number : 25 Question Id : 5406266254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 26 Question Id : 5406266255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

121, 102, 83, 64, ?
Options :

1. % 54

2.9 45

3. % 46

4, % 47

Question Number : 26 Question Id : 5406266255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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121, 102, 83, 64, ?
Options :

1. % 54

2.9 45

3. % 46




4. % 47

Question Number : 27 Question Id : 5406266256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

5,18, 30, 44, 57,70
Options :

1. # 18

2. % 44

3. % 57

4. ¥ 30

Question Number : 27 Question Id : 5406266256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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5, 18, 30, 44, 57,70
Options :

1. ® 18

2. % 44

3. % 57

4.+ 30

Question Number : 28 Question Id : 5406266257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

?:729::13:2179



Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 11

2.9

3.7

4.17

Question Number : 28 Question Id : 5406266257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. 11

2.9

3.7

4.17

Question Number : 29 Question Id : 5406266258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “~> means ‘+’, “+’ means ‘x’, ‘=’ means ‘-’ and ‘x’ means ‘+’, then which of the following equation is true?
Options :

. % 17+12+3-9x7=28

2.% 17x12+9+3-7=35

3.9 17x12-3+9+7=46



4, % 17+12-9+3x7=24

Question Number : 29 Question Id : 5406266258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.% 17+12+3-9x7=28

2.% 17x12+9+3-7=35

3.9 17x12-3+9+7=46

4. % 17+12-9+3x7=24

Question Number : 30 Question Id : 5406266259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many bike are not car?

Car Bike

Options :
1. %6
2.9 20
3. % 16
4. % 4



Question Number : 30 Question Id : 5406266259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forat IR® HR ol 82

Options :
1. %6
2.9 20
3. % 16
4. % 4

Question Number : 31 Question Id : 5406266260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

Yellow
AN

15
9 2 11 [~ Water

ViIE
4

11
\ Red




I. Number of water which are not red are 13.
II. Total number of red are 59.

Options :

1. % Only 1

2. % Only II

3. # BothIand I
4. ¥ Neither I nor II

Question Number : 31 Question Id : 5406266260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 32 Question Id : 5406266261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is incorrect?

Pencil

I3

13| 11 Pen

I. Number of paper which are neither pencil nor pen are 16
I1. Total number of paper are 32

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 32 Question Id : 5406266261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % FHadl
2. % Had Il
3. % [ UGl
4. TRIIATRI

Question Number : 33 Question Id : 5406266262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.
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Question Number : 33 Question Id : 5406266262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 34 Question Id : 5406266263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?
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Question Number : 34 Question Id : 5406266263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 35 Question Id : 5406266264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

IRUUEIII I

Options :

1. ¥



Question Number : 35 Question Id : 5406266264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 36 Question Id : 5406266265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

o glfe 112 il[@ ile
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Options :

O
A
O

2.¥




Question Number : 36 Question Id : 5406266265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 37 Question Id : 5406266266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

...... f w g

Options :

2.¥




Question Number : 37 Question Id : 5406266266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 38 Question Id : 5406266267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 11
2.% 13
3. % 15
4. % 17

Question Number : 38 Question Id : 5406266267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 11
2.% 13
3. % 15
4. % 17

Question Number : 39 Question Id : 5406266268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A




3. ¢

4. %

Question Number : 39 Question Id : 5406266268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 40 Question Id : 5406266269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



A_I

Options :

1. ¥

<+,
N4

A

Question Number : 40 Question Id : 5406266269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. %
3. ®
4. ®

General Awarenessl1
Group Number : 3
Group Id : 540626174
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awarenessl

Section Id : 540626253
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626292
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406266270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kuchipudi dance form of India was originated from
Options :

1. ® Tamil Nadu

2. ¥ Andhra Pradesh

3. ® Kerala

4. % (Qdisha

Question Number : 41 Question Id : 5406266270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qfierg
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3. % Rd

4. % 3fifs=m



Question Number : 42 Question Id
Orientation : Vertical

: 5406266271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Bibi Ka Magbara is located in

Options :

1. * Rajasthan

2. % Uttar Pradesh
3. # Delhi

4. ¥ Mabharashtra

Question Number : 42 Question Id
Orientation : Vertical

: 5406266271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JORYM

2. % JWYSY

3. % faeait

4. ¥ HERIY

Question Number : 43 Question Id
Orientation : Vertical

: 5406266272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Bhungal is which type of musical instrument?

Options :

1. ¥ Wind instrument
2. # String instrument
3. % Solid instrument

4. % Percussion instrument

Question Number : 43 Question Id

: 5406266272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ gdl & daTe]

2. % dRdIe

3. % AR

4, % dId die]

Question Number : 44 Question Id : 5406266273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of artist - musical instrument is correct?

I. L. Subramaniam — Violin
II. Ustad Ajmad Ali Khan — Tabla
II1. Annapurna Devi — Surbahar

Options :

1. # Tand IT

2. % Il and IIT
3. % T and III

4, % 1,1 and 1T

Question Number : 44 Question Id : 5406266273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1dYT 1




2. % Ayt
3. T dUTII
4, % LI dYT 11

Question Number : 45 Question Id : 5406266274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is one of the methods to calculate National Income.
Options :
1. ¥ Product method
2. % Revenue method
3. ¥ Capital method

4. % Consumption method

Question Number : 45 Question Id : 5406266274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Jae fafey

2. % o fafg

3. % Uon fafer

4. % 9ud fafg

Question Number : 46 Question Id : 5406266275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the year whose prices are being used to calculate the real GDP called?

I. Base year
II. Financial year

Options :



1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 46 Question Id : 5406266275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Hadl

2. % Had I

3. % [ UGl
4. % G IATBIII

Question Number : 47 Question Id : 5406266276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the monetary policy instrument of Reserve Bank of India?

I. Liquidity Adjustment Facility
I1. Reserve deposit ratio

Options :

1. % Only I

2.¢ Only II

3. ¥ BothIand II
4. ® Neither I nor II

Question Number : 47 Question Id : 5406266276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 @ &1 @ URdrg Refd do &1 Mifae Hifd &1 fered 781 82

1. IAfAfE FHRIS gfaem
11. 3RF&rd e St ergurd
Options :

1. % $had |

2. HAd Il

3. % (UGl

4. % I

Question Number : 48 Question Id : 5406266277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the common goal of five year plan under Planning commission?
Options :

1. % Growth

2. ® Equity

3. ¥ Modernisation

4. ¥ Urbanisation

Question Number : 48 Question Id : 5406266277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % YD
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Question Number : 49 Question Id : 5406266278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acid is contained by curd?
Options :

1. # Acetic acid

2. % Lactic acid

3. % Oxalic acid

4. % Tartaric acid

Question Number : 49 Question Id : 5406266278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ufifee s

2. ¢ difdeeh S

3. % 3faIfeied SRl

4. % TERSD 3

Question Number : 50 Question Id : 5406266279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fights with germs that may enter our body.
Options :
1. # Red Blood Cells
2. ¥ White Blood Cells
3. # Plasma

4. # Haemoglobin

Question Number : 50 Question Id : 5406266279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST 39 DIRIBTY

2. ¥ A 39 DIRIBIY

3. % WINHI

4. % TgHARAIST

Question Number : 51 Question Id : 5406266280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is unicellular?

I. Amoeba
II. Paramecium

Options :

1. * Only I

2. % Only II

3. % Both I and I
4. ¥ Neither I nor II

Question Number : 51 Question Id : 5406266280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % ATl IATBI I

Question Number : 52 Question Id : 5406266281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Argon — Monoatomic
II. Hydrogen — Diatomic

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ® Neither I nor IT

Question Number : 52 Question Id : 5406266281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl
2. % Had Il
3. QYT I gl
4. % I IAE I

Question Number : 53 Question Id : 5406266282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?



I. Sum of kinetic and heat energy is called mechanical energy.
I1. Potential energy + kinetic energy = Constant at all points for an object.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 53 Question Id : 5406266282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifad # 3 S T ag 22

1. TSt 9UT S Solf B Sivs Fifd SHolf Hear 3|
11. FRUTIS Bt + TIfT Bl = Ueb g  frw &R fig W 8RR

Options :

1. % Had |

2. ¢ Had Il

3. % [ QYT
4. % qEIIATRI I

Question Number : 54 Question Id : 5406266283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the largest continent of the world?
Options :

1. ¥ Asia

2. # North America

3. # South America

4. ¥ Europe

Question Number : 54 Question Id : 5406266283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TREAT

2. % IR ARSI

3. % &1 3aRan

4. % Y

Question Number : 55 Question Id : 5406266284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the upper most layer of atmosphere.
Options :
1. # Troposphere
2. # Thermosphere
3. % Stratosphere
4. ¥ Exosphere

Question Number : 55 Question Id : 5406266284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 gUHSd P g SR IRA B
Options :

1. % giyHsd

2. % JIRIAGHSA

3. % gHAOHSA

4. ¢ dfgHed

Question Number : 56 Question Id : 5406266285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Millets is/are correct?

L. It can be grown on less fertile and sandy soils.
I1. It is a hardy crop that needs low temperature and adequate rainfall.

Options :

1. * Only I

2. % Only II

3. % Both I and I
4. ¥ Neither I nor II

Question Number : 56 Question Id : 5406266285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % 1A

Question Number : 57 Question Id : 5406266286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the non-metallic minerals?

I. Limestone
II. Mica

Options :
1. % Only I



2. % Only II
3.4 Both [ and II
4. % Neither I nor II

Question Number : 57 Question Id : 5406266286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had I
3. QYT ISl
4. % G IATBIII

Question Number : 58 Question Id : 5406266287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding the Harappans is correct?

I. They made seals out of stone.
II. They made tiles with golden designs.

Options :

1.+ Only I

2. % Only II

3. ¥ BothIand II
4. ® Neither I nor II

Question Number : 58 Question Id : 5406266287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ $had |

2. % Had 11

3. % [ UGl

4. % 1B

Question Number : 59 Question Id : 5406266288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the Vedas?

I. Rigveda

II. Yajurveda
III. Samveda

IV. Atharvaveda

Options :

1. ® Tand II

2. % Il and IV

3. % I, I and III

4. % 110, I and TV

Question Number : 59 Question Id : 5406266288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EPIRICR R R R R

1. B7dG
I1. T9RAG



1. grHae
v, 3ifaae

Options :

1. % IdUT

2. % I dUTIV
3.% LITAYUTII

4. 11 1T dUT IV

Question Number : 60 Question Id : 5406266289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which Dynasty Delhi first became the capital of a kingdom?
Options :

1. ¥ Rajput

2. % Khalji

3. % Tughluq

4. # Sayyid

Question Number : 60 Question Id : 5406266289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh e a1 o hTet H feeell Teh qoTey i AST4THT it &t
Options :

1. " SYd

2. % Jaeh

3. % Jilclp

4. % JHG

General Awareness2
Group Number : 4



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 61 Question Id : 5406266290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Kitab UL-Hind is/are correct?

L. It was written by Al-Biruni.
II. It was written in Arabic.

Options :
1. * Only I
2. % Only II

540626175

General Awareness2

540626254
1

Online
Mandatory
20

20

20

Yes

1
540626293
Yes



3. % Both I and II
4. % Neither I nor II

Question Number : 61 Question Id : 5406266290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRed & Q &1 918 Sy frde Ia-fie & Jay 3 g8l /82

L. T8 3A-§&A1 & gR fordt 718 ot
1. I8 3R H fordt 78 ot
Options :

1. % Had 1

2. % Had I

3. ¢ 1 UGl

4. % G IATBIII

Question Number : 62 Question Id : 5406266291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who formed the Swaraj Party?

I. C.R. Das
I1. Motilal Nehru

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ® Neither I nor II

Question Number : 62 Question Id : 5406266291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS T o1 T3+ foegm fasar ume



I 9.3R. g™
1. AlArd "8

Options :

1. % FHadl

2. % Had Il

3. QYT I gl
4. % 1B

Question Number : 63 Question Id : 5406266292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where was the Khilafat Committee formed?
Options :

1. ¥ Bombay

2. % Punjab

3. % Madras

4. % Bihar

Question Number : 63 Question Id : 5406266292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faTa Hifa &1 6 Fel g3 um
Options :

1. v SIS%

2. % UVE

3. % Halg

4. % fogR

Question Number : 64 Question Id : 5406266293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Global Competitiveness Report is published by the
Options :

1. ¥ World Bank

2. # International Monetary Fund

3. # Asian Development Bank

4. % World Economic Forum

Question Number : 64 Question Id : 5406266293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT HUSlea g RAE  GRI USRI & St 8|
Options :

1. % 9GS ddb

2. % FCAYAA HIHH e

3. % TR SIAUHC dF

4. «ac—s‘wﬁmuﬁw

Question Number : 65 Question Id : 5406266294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the first woman to win the Sahitya Akademi Award?
Options :

1. # Sarojini Naidu

2. % Arundhati Roy

3. % Mahadevi Verma

4. % Amrita Pritam

Question Number : 65 Question Id : 5406266294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SHpTEH! RIGR Siia- dTelt ugelt AR B a2



Options :

1. % RIS ARG
2. % 3R¥Yfd AT
3. % HgTad! gHi
4. S UaH

Question Number : 66 Question Id : 5406266295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Indian won the 2020 Pulitzer Prize?

I. Channi Anand
II. Mukhtar Khan
II1. Dar Yasin

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 66 Question Id : 5406266295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 GfeTloR TRIDR bd YR A S

L. I e

1. TR W@
11 GR IR

Options :

1. % 1dYT 11

2. % 11 dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T




Question Number : 67 Question Id : 5406266296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘Hit Refresh’?
Options :

1. ¥ Satya Nadella

2. % Manmohan Singh

3. % Sourav Ganguly

4. % Jim cook

Question Number : 67 Question Id : 5406266296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fee Rp=r Tea® & @ B g2
Options :

1. ¢ I TSl

2. % HHIE g

3. % IR TRLEH

4. % [ pH

Question Number : 68 Question Id : 5406266297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most innovative major state in India according to India Innovation Index 20207
Options :

1. # Kerala

2. ¥ Karnataka

3. ® Maharashtra

4., ¥ Tamil Nadu



Question Number : 68 Question Id : 5406266297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR SO §S09 2020 & IR HRA BT T FA1dfed UHE 9 DI 1 62
Options :

1. % B

2. ¥ FAlCH

3. % HERIY

4. % A TG

Question Number : 69 Question Id : 5406266298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the kiosk developed by DRDO for COVID-19 sample collection?
Options :

1. ¥ COVTOOL

2. % CORONATEST

3. % DRDOTOOL

4. ¥ COVSACK

Question Number : 69 Question Id : 5406266298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f$. 3R f3.3M. (DRDO) GRI HIAS-19 & THAT TUE & fore fawa fraieas &1 o T 72
Options :

1. ¥ COVTOOL

2. % CORONATEST

3. ¥ DRDOTOOL

4. ¥ COVSACK

Question Number : 70 Question Id : 5406266299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The UN Climate Change Conference COP26 will take place in
Options :

1.+ U.K.

2. % Austria

3. # Italy

4. % Poland

Question Number : 70 Question Id : 5406266299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T, FATSHC IS HIHY Dh3fUl26 (COP26) o g
Options :

1.¥ Y .

2. # 3fifAn

3. % gl

4. % Urcfs

Question Number : 71 Question Id : 5406266300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In March 2021, RBI has imposed a monetary penalty of Rs. 2 crore on
Options :

l1.* PN.B

2. S.B. L.

3. % Bank of Baroda

4. ¥ Union Bank

Question Number : 71 Question Id : 5406266300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2021 B, SRERE A TR 2 TS TUY BT e ST T B |



Options :

1. % O T d1,

2. ¢ U9, ol 371%,

3. % S 3T FSIal
4. % gAgI dF

Question Number : 72 Question Id : 5406266301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to IQAir's 2020 World Air Quality Report, which is the world's most polluted capital city?
Options :

1. # Beijing

2. % New Delhi

3. # Islamabad

4. % Tokyo

Question Number : 72 Question Id : 5406266301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IQAir @1 2020 &1 fay ag T[ura< RUIE & SR, g1 T Ja8 UEd ISTem [ B AT 72
Options :

1. % Sfifof

2. ¢ 5 faeell

3. ¥ XIAMHEIG

4. % CIRQY

Question Number : 73 Question Id : 5406266302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following language(s) is/are mentioned in the Indian constitution?



I. Punjabi
II. Bengali

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 73 Question Id : 5406266302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & @ o I 1y HTITSH &1 guie YRR Sfaem & 82

IR SIC]]
1. ST

Options :

1. % PHadl

2. % Had Il

3. QYT I gl
4. % I IAE I

Question Number : 74 Question Id : 5406266303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with Admission or establishment of new states?
Options :

1. %1

2.9 2

3.% 3

4, % 4

Question Number : 74 Question Id : 5406266303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRGBT B AT STw6 -4 Aodl o Ta=T a1 RIMIAT ¥ Haferd g2
Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 75 Question Id : 5406266304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who appoints the Attorney General of India?
Options :

1. % The Prime Minister

2. % The Governor

3. ¥ The President

4. # The Chief Minister

Question Number : 75 Question Id : 5406266304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & HETATgare! &t fAgfad ®I9 ol 82

Options :

1. ® Tyl
2. % YUl
3. ¢ qgufd
4. % TEHHA!

Question Number : 76 Question Id : 5406266305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which year did the Tenth constitutional amendment of the Indian constitution take place?
Options :
1. ¥ 1961
2. % 1960
3. % 1956
4, % 1952

Question Number : 76 Question Id : 5406266305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTT Afae™ H gual SaumHe Sxied food oy & gaim um
Options :

1. ¥ 1961

2. % 1960

3. % 1956

4. % 1952

Question Number : 77 Question Id : 5406266306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following team was not one of the semi-finalists in 2019 ICC Men’s Cricket World Cup?
Options :

1. # India

2. # Australia

3. % West Indies

4. # New Zealand

Question Number : 77 Question Id : 5406266306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 1S ¥ Y. g fobbe fay U & Fafeiad & 4 o1 @ v Seiivrefere et i

Options :




1. % YRd

2. % 3fiecfer
3. ¢ d&es eI
4. % YOS

Question Number : 78 Question Id : 5406266307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the Most Valuable Player award in IPL 20207
Options :

1. ¥ Jofra Archer

2. # Deepak Chahar

3. % Andre Russell

4. # Hardik Pandya

Question Number : 78 Question Id : 5406266307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31Ts. 0T TE. 2020 & ARE TYUTA R HT 37ATS faha ST
Options :

1. ¥ SIBT 3R

2. % P AR

3. % 3fig I

4. % gIfcwm Uil

Question Number : 79 Question Id : 5406266308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country won the ICC Under19 Cricket World Cup 2020?
Options :

1. # India



2. % England
3. # Australia
4. ¥ Bangladesh

Question Number : 79 Question Id : 5406266308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

317E <t 2. 38719 febobe fay U 2020 fobd 71 7 St
Options :

1. % HRd

2. % $cls

3. % 3fiecier

4.« SRR

Question Number : 80 Question Id : 5406266309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Hockey — Paul Pogba
II. Football — Sohail Abbas

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 80 Question Id : 5406266309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - Faare) &1 fgfefad & ¥ &9 a1 gm I8t 82



1. Bleb! - el URa
I1. Pcdiel - Hiod edly
Options :

1. % Had |
2. % Had Il
3. % [ UGl
4. AA A

Arithmetic Abilityl

Group Number : 5

Group Id : 540626176
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetical and Numerical abilityl

Section Id : 540626255
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 540626294



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5406266310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L X s kN :
If —+—+—+_—-+—=——, then what is the value of K?
2 4 6 8 10 120

Options :
1. ¥ 137
2. % 27
3. % 18
4. %9

Question Number : 81 Question Id : 5406266310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L1111 K 3 kA ane?
2 4 6 8 10 120

Options :

1. ¥ 137

2. % 27

3. % 18

4. %9

Question Number : 82 Question Id : 5406266311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K is the smallest integer for which 81% > 384 What is the value of K?
Options :

1. % 21

2.9 22



3. % 23
4. % 20

Question Number : 82 Question Id : 5406266311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K I8 Ta BIeT qulies 5, foras forg 81K > 3841 K 10 a1 82
Options :

1. #* 21

2.9 22

3. % 23

4. % 20

Question Number : 83 Question Id : 5406266312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K is the product of all positive integers between 1 and 21. What is the greatest integer P for which 2P is a factor of K?
Options :

1. % 10

2. % 17

3.% 19

4.9 18

Question Number : 83 Question Id : 5406266312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K, 1 921 & &g & g 4TS QUTich| T AT § | I §91 QUites P &1 §, Foridh folt &7 2P, K Ueh R 7
Options :

1. # 10

2.% 17

3. % 19



4.4 18

Question Number : 84 Question Id : 5406266313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of ?
NG e A
— o W e |
5 4 5 11 4 11 \4 2}
& 3. 2 1 3 3N
o o ]
6 782 2

Options :

1. ¥ 1813/8492
2. % 1604/3775
3. % 1927/9582
4. ® 562/1965

Question Number : 84 Question Id : 5406266313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 & 3 2 3 353

1., ;
el sy

L F
3.9 .1 [3 1)
Mk = =4 | ===
7 2

Options :

1. ¥ 1813/8492
2. % 1604/3775
3. % 1927/9582
4. % 562/1965

Question Number : 85 Question Id : 5406266314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is Rs. 2000 and its selling price is Rs. 1500. What is the discount?
Options :

1. # 20 percent

2. % 25 percent

3. % 33.33 percent

4. % 35 percent

Question Number : 85 Question Id : 5406266314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U aeq &1 3ifthd Yed 2000 ST § TUT ST fashd Yoo 1500 FUT g | F& HT 82
Options :

1. % 20 gfrd
2. ¢ 25 Ufard
3. % 3333 gfa=rd
4. % 35 gfaerd

Question Number : 86 Question Id : 5406266315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 12 numbers is 50. If 7 is subtracted from the first five numbers and 5 is added in the next seven numbers, then what will be the new
average?

Options :
1. % 54
2.9 50
3. % 52
4, % 48

Question Number : 86 Question Id : 5406266315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



12 TRt &1 S 50 g1 afe UuyH Uia wemsi § ¥ 7 gel foar S quT sRTel 91 Semsfi | 5 Sis fear S, af =41 3iad o1 grm?
Options :

1. % 54

2.9 50

3. % 52

4. % 48

Question Number : 87 Question Id : 5406266316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average age of 5 daughters of a family is 15 years. The average age of daughters and their father and mother is 25 years. If the mother is 3 years
older than the father, then what is the age of the father?

Options :

1. ¥ 51.5 years
2. # 49.5 years
3. % 48.5 years
4. ® 535 years

Question Number : 87 Question Id : 5406266316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wuﬁagﬁsgﬁa‘rﬁeﬁw&rrq 15 9 g | gAY a1 3T A1 94T fUd &1 ofid 3y 25 a8 g | af Aran, fUar 9 3 a¥ a1 §, ) far &t
S T 8?2

Options :

1. % 51539
2. % 49599
3. 48539
4. % 53599

Question Number : 88 Question Id : 5406266317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In an exam, out of total number of appeared students 80 percent students passed and 320 students failed. What is the total number of students
appearing in the exam?

Options :
1. * 1200
2. ¥ 1600
3. % 1800
4. % 2000

Question Number : 88 Question Id : 5406266317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TR1e H, SURYd STl 1 Hof T § U 80 I BT I1T01 §U § T 320 BT S0 §U 5 | TRI&T H IURT B a1l B &1 ol
ST T 57

Options :

1. % 1200

2. % 1600

3. % 1800

4. % 2000

Question Number : 89 Question Id : 5406266318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 30 percent of P + 20 percent of 60 = 40 percent of 180, then what is the value of P?
Options :

1. # 220

2.% 200

3. % 225

4. % 150

Question Number : 89 Question Id : 5406266318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe P &1 30 TRARIT + 60 BT 20 TR = 180 BT 40 UTARId B, 1 P &1 HH &1 82
Options :
1. % 220
2. 200
3. % 225
4. % 150

Question Number : 90 Question Id : 5406266319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fresh fruits contains 90 percent water by weight while dried fruits contains 20 percent water by weight. If 16 kg of dried fruits are obtained from
'x' kg of fresh fruits, then what is the value of 'x'?

Options :
1. ¥ 128
2. % 96

3. % 116
4. % 136

Question Number : 90 Question Id : 5406266319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS B H YR & IR 90 UfAd U 8, STafes T dl & YR & 3R 20 Ufawd ot 81 afe '« {671, are wall ¥ 16 6. U1, 9@ wa
fArerd €, Y x' BT HHE |32

Options :

1.9 128

2. % 96

3. % 116

4. % 136

Question Number : 91 Question Id : 5406266320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



X is increased by 70 percent and then it becomes Y. Y is increased by 80 percent and then it becomes U. U is increased by 90 percent and then it
becomes V. If U = 6120, then which of the following statement is/are correct?

I. Sum of X and V is 13268.
II. Difference of V and Y is 9628.

Options :

1. % Only I

2. % Only II

3. % Both IandII
4. ® Neither I nor II

Question Number : 91 Question Id : 5406266320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X BT 70 UFIRId T I/ ST 8 U1 R ag Y S Sd1 81 Y b 80 UfAwrd ¥ 91 SI1dT 8 dUT bR 98 U S ST 81 U &Y 90 Ufawrd 3
I ST & 9UT TR a8 v S ST 81 Tf¢ U = 6120 8, O FOfiRad 7 @ & 91/3 = 981 8782

L. X dUTV BTN 13268 &
LV dUTY &7 3R 9628 B

Options :

1. ¥ Had |

2. % Had Il

3. % [T gl
4. % 1B

Question Number : 92 Question Id : 5406266321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 3 times of selling price is equal of 4 times of cost price, then what is the profit percentage?
Options :

1. % 20 percent

2. % 25 percent

3. ¥ 33.33 percent



4. % 30 percent

Question Number : 92 Question Id : 5406266321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faohd Yo &1 3 A1 550 o & 4 AT & SRI6R &, <) aTH Ufa<rd 1 82
Options :

1. % 20 yfard
2. % 25 gfard
3. ¢ 33.33 gfa=rd
4. % 30 gfa=rd

Question Number : 93 Question Id : 5406266322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If selling price and cost price of a shirt is Rs. 1700 and Rs. 1500 respectively, then what is the profit percentage?
Options :

1. # 14.66 percent

2. % 16.66 percent

3. # 14.28 percent

4. % 13.33 percent

Question Number : 93 Question Id : 5406266322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U HHIN BT Ieha Hed TUT 69 Yoo HHT: 1700 BT AT 1500 TUT §, o ATH UT=Id oT 82
Options :

1. % 14.66 Uf=Id

2. % 16.66 Ufa=rd

3. % 14.28 gfa=rd

4. ¥ 13.33 Ufard



Question Number : 94 Question Id : 5406266323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan purchased 50 dozen pens at the rate Rs. 92 per dozen. He sold 15 dozen at 20 percent profit and the remaining 35 dozen at 30 percent
profit. What is his profit percentage?

Options :

1. # 20 percent
2. % 25 percent
3. % 30 percent
4. ¥ 27 percent

Question Number : 94 Question Id : 5406266323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A8 A 50 SO HAH 92 TYY U goi Bl &R A TS| IT 15 Goid, 20 UfATd & TTH TR YT AN 35 goid, 30 UfAd & d1H R 9 | STPT
1Y Tforerd o 82

Options :

1. % 20 gfrd
2. % 25 gfard
3. % 30 gfazrd
4. ¥ 27 gfaerd

Question Number : 95 Question Id : 5406266324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A: B=2:3, then what is the value of A : (A + B)?
Options :

1.¥2:5

2.% 5:2

3.%3:2

4. % 3:15



Question Number : 95 Question Id : 5406266324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IEA:B=2:38, A : (A+B)DIHAF R G?
Options :

1.¥2:5

2.% 5:2

3.%3:2

4. % 3:15

Question Number : 96 Question Id : 5406266325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of speed of three racers is 3 : 4 : 2. What is the respective ratio of time taken by the three racers to cover the same distance?
Options :

1.¥4:3:6
2. % 8:3:6
3.%6:3:4
4 % 2:3:6

Question Number : 96 Question Id : 5406266325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRt B T BT AT 3 ¢ 4 : 2 B | THM g a0 B B o UTadh! gRT o1l T8 HG 1 HH: SUTd 1 82
Options :

1.¥4:3:6
2.% 8:3:6
3.%#6:3:4
4, %2:3:6

Question Number : 97 Question Id : 5406266326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A company retains 65 percent of its total profit and divides rest of the profit among its 40 employees. The ratio of the number of senior
employees to the number of junior employees is 5 : 3. The profit share of each senior employee and each junior employee are in the ratio of 3 : 2
respectively. If each junior employee gets Rs. 2000 as his share of profit, then what is the total profit of the company?

Options :

1. ¥ Rs. 300000
2. % Rs. 250000
3. %¥ Rs. 400000
4, % Rs. 375000

Question Number : 97 Question Id : 5406266326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUT Hd ATH BT 65 UTIRIT W § TUT U 40 HHATRA! H Y 1Y dled ¢ | aRE HHATRE! BT AT 94T B HHATRGT B G
HT U 5 : 3 81 TP INF FHAR! IYT TAH HAE FHAR & 7Y & T BT 30Td HH: 3 : 2 31 TS TP ST HHAR BT 2000
U0 Y & TR & U F U Bl §, A HU-l BT e a1y 77 82

Options :

1. ¢ 300000 ST
2. % 250000 T
3. % 400000 3T
4. % 375000 T

Question Number : 98 Question Id : 5406266327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three bottles of equal capacity containing mixture of milk and water in ratio of 3 : 5, 1 : 3 and 5 : 7 respectively. These three bottles are emptied
into a large bottle. What is the percentage of milk in the new mixture?

Options :

1. ¥ 52.36 percent
2. % 42.83 percent
3. % 63.14 percent



4. ¥ 34.72 percent

Question Number : 98 Question Id : 5406266327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T & &1 Sidal H g TUT U1 o R80T &1 SgaTd ShHR: 30 5, 1: 3 dUT5: 7 81 §9 dF diddl &l U e didd H et B fedr
ST 81 73 fhreor & g o1 Ut g2

Options :

1. % 5236 Ufa=rd
2. % 4283 gfa=rd
3. % 63.14 gfa=rd
4. ¥ 34.72 9fa<rd

Question Number : 99 Question Id : 5406266328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes Rs. 15000 in 5 years on simple interest at the rate of 10 percent per annum. What is the total interest for the 5 years?
Options :

1. #* Rs. 5500

2. ¥ Rs. 5000

3. ¥ Rs. 7000

4. % Rs. 6700

Question Number : 99 Question Id : 5406266328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR WIYROT ST TR 10 Uf=Td B1 aMfeh a2 F 5 auf # 15000 ¥YY G I § | 5 T8 T e saTol fba g2
Options :

1. % 5500 30

2. % 5000 UL

3. % 7000 UT




4. % 6700 ST

Question Number : 100 Question Id : 5406266329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the compound interest on a sum of Rs. 10000 at the rate of 20 percent per annum for 2 years?
Options :

1. % Rs. 4300

2. ¥ Rs. 4400

3. ¥ Rs. 4900

4. % Rs. 5200

Question Number : 100 Question Id : 5406266329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 BT T AR TR 20 TR Ul IS Bt &R W 2 TV BT Ah gl TSl T I

Options :
1. % 4300 30
2. ¥ 4400 3T
3. % 4900 3T
4. % 5200 °9Y
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Question Number : 101 Question Id : 5406266330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number of complete years in which a sum of money becomes more than four times at the rate of 15 percent per annum on
simple interest?

Options :

1. ¥ 21 years
2. % 16 years
3. % 19 years
4. % 17 years

Question Number : 101 Question Id : 5406266330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T YRIRT 15 Ti=Td &1 ATt ax IR ¥ QIR 7ol W fdra- guf auf § IR A1 9 3ifere g1 smate

Options :




1.¢21 a9
2. % 16TY
3. % 1999
4. % 1799

Question Number : 102 Question Id : 5406266331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the difference between compound interest and simple interest for 4 years on a principal of Rs. 15000 at the rate of 10 percent per
annum?

Options :

1. % Rs. 980.2
2. ¥ Rs.961.5
3. % Rs.942.5
4. % Rs.988.6

Question Number : 102 Question Id : 5406266331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15000 ¥ o TH AU TR 10 UTI=RId Ul I8 B & H 4 IO & [T Teh e SATS qUT ATYRUN TS & St T SR g2
Options :

1. % 980.2 30

2. ¥ 961.5 30

3. % 942.5%00

4. % 988.6 7Y

Question Number : 103 Question Id : 5406266332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A bike travels from P to Q at the speed of 30 km/hr and from Q to P at speed of 56 km/hr. What is the average speed of the bike?
Options :



1. * 1500/43
2. ¥ 1680/43
3. % 43
4. % 48

Question Number : 103 Question Id : 5406266332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 9156 P Q, 30 fob M /deT &t fa A qUT Q A P, 56 b 1t /eieT 1 7ify T e vl B | 913 ot 319d 71 T 82
Options :

1. % 1500/43

2. v 1680/43

3. % 43

4. % 48

Question Number : 104 Question Id : 5406266333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains are running in opposite direction with the same speed. If the length of each train is 450 metres and they cross each other in 15
seconds, then what is the speed of each train?

Options :

1. # 26 metre/seconds
2. ¥ 30 metre/seconds
3. % 36 metre/seconds

4. % 42 metre/seconds

Question Number : 104 Question Id : 5406266333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l Yermfeal gaE Tifd ¥ faudid fexmaft & o 61 § | afe Udie YS! & TS 450 Hiek § 9UTd U gaik & 15 UhU8 H UR HRdl &, df
U YS! 1 T T 82

Options :



1. % 26 HIAHUS
2. ¢ 30 HIc/AHUS
3. % 36 Ui/ AHTS
4. % 42 HIey/AHUS

Question Number : 105 Question Id : 5406266334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul rides his vehicle at the speed of 60 km/hr but stops for 15 minutes, to change parts at the end of every 12 km. What will be the time taken
by him to cover a distance of 150 km?

Options :

1. % 5 hour 30 minutes
2. % 6 hours 20 minutes
3. # 4 hours 40 minutes

4. % 5 hours 10 minutes

Question Number : 105 Question Id : 5406266334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTgE 31U aTe 60 fob.HY./gieT Bt TIfd & Iardr § R Ul 12 {5 1. IR goil &1 ggaq & 1ot 15 fie & faw S war g1 150 fov 1t @1 g
T B & o I foba1 g5y e

Options :

1. ¥ 5%¢ 30 fBFe
2. % ¢Hc 20 e
3. % 4%¢ 40 fiFe
4. % 5¢¢ 10 e

Question Number : 106 Question Id : 5406266335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X boys can do a work in 80 days. In how much time, 4X boys will do half of the same work?
Options :



1. # 12 days
2. ¥ 10 days
3. % 15 days
4. % 20 days

Question Number : 106 Question Id : 5406266335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X TSP Th BT Bl 80 feT H R Tbd 1 4X TSP I B & MY Bl fbd 7 H B3
Options :

1. % 12feq

2. ¢ 10fea

3. % 15faq

4. % 20faa

Question Number : 107 Question Id : 5406266336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deepak alone can do a work in 32 hours. Deepak and Rahul together can do the same work in 8 hours. Rahul and Amar together can do the same
work in 4 hours. In how many hours can Amar alone complete the work?

Options :

1. # 32/9 hours
2. % 33/7 hours
3. % 32/5 hours
4. % 30/7 hours

Question Number : 107 Question Id : 5406266336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feUeh 3(ahell Uh BT &l 32 He T R Tavdl o | AU IUT Ugd AR I 1 &1 8 6 B & vl § | Gd T 3R AR I S i
4GC T T IHA g | SR Bl B e bef H T HR Tdhdl 87

Options :




1. % 32/9%¢
2. % 33/74¢
3. ¢ 32/5%¢
4. % 30/79¢

Question Number : 108 Question Id : 5406266337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sumesh and Soni can together do a piece of work in 100 days. If Sumesh works with four times of his efficiency and Soni works with an
efficiency of half less than his original efficiency, then the work gets completed in 40 days. In how many days can Sumesh and Soni do the work
alone respectively?

Options :

1. # 700/3 days, 175 days
2. % 175 days, 700/3 days
3. % 150 days, 700/3 days
4. % 700/3 days, 150 days

Question Number : 108 Question Id : 5406266337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TYT I AR T B DI 100 1 T T HR Tavd ¢ | A JART (U &1 I IR AT B Bl § aUT T SO ST I Sf1eT
HH BT BT ©, Al B 40 T T 1811 8 | HHRT: JA T G [ba- Tl B B Bl 3Hhd T HR Ahd 62

Options :

1. % 700/3 fad, 175 fad

2. ¢ 175 &, 700/3 f&

3. % 150 fa, 700/3 faA

4. % 700/3 f&A, 150 &

Question Number : 109 Question Id : 5406266338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, B and C alone can complete a work in 40, 30 and 24 days respectively. A left the work 10 days before the work was completed and B left the



work 6 days after A had left. C completed remaining work alone. How many days will be required to complete the whole work?
Options :

1. ¥ 83/6 days

2. % 84/9 days

3. % 83/9 days

4. % 83/8 days

Question Number : 109 Question Id : 5406266338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B TAUTC 3hdl Th BT Bl HART: 40, 30 AU 24 AT R IR IBAGI ATIR R A 10 A E P IS A AUIBAA F BISA &
6 a1 UyTd S BYS fadT| ¢ = AV S 3foba gui fbaT | HgUl S ORT HRA o ol b= a1 b1 Sra=adhdl gl

Options :

1. ¢ 83/6 faa
2. % g4/9 faq
3. % 83/9feA
4. % g3/8feT

Question Number : 110 Question Id : 5406266339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the curved surface area of a hemisphere whose radius is 3.5 cm?
Options :

1. ¥ 77 cm?

2. % 63 cm?

3. % 84 cm?

4. % 96 cm?

Question Number : 110 Question Id : 5406266339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 3fefman et Bean 3.5 .11, 8, &1 9% gSi &wd F1 32
Options :

1. ¥ 779412

2. % 63 QA2

3. % 84 JHI2

4. % 96 A2

Question Number : 111 Question Id : 5406266340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the volume of a cube is 343 ¢cm? , then what is the total surface area of the cube?
Options :

I. % 424 cm?

2. % 256 cm?

3. % 364 cm?

4. ¥ 294 cm?

Question Number : 111 Question Id : 5406266340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS U U BT 3T 343 9.3 8, A U9 H1 $ol YS9 &6 31 82

Options :

1. % 4249112
2. % 256 4.2
3. % 364912
4. ¥ 204911 2

Question Number : 112 Question Id : 5406266341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three circles of radius 4 cm are kept touching each other. The string is tightly tied around these three circles. What is the length of the string?
Options :

I. % 12+ 8mcm

2. % 16 + 8t cm

3.9 24+ 16m cm

4. % 18+ 8ncm

Question Number : 112 Question Id : 5406266341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 9.7, Broar ara & g9 B o A TRl SR §U T T § 1 3 < g1l O IRI SR U YT SR ST T § | YT B AT T 82
Options :

1. % 12+ 8z QA

2. % 16+ 8n I,

3.¢ 24+ l6n T,

4. % 18 + 8 ..

Question Number : 113 Question Id : 5406266342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of the square base of a pyramid is 6 cm. The pyramid is cut in two parts by a plane parallel to its base such that heights of upper and lower
parts are in ratio 1 : 1 respectively. What is the ratio of volume of lower and upper parts respectively?

Options :
1. % 9:1
2. % 3:2
3.% 8:1
4.9 7:1

Question Number : 113 Question Id : 5406266342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIRITAE & arifa 3MYR & Yol 6 V.11, 8| FIRITHE &1 39% YR & THHIR U6 9Had 9§ 39 UHR &l YT & Hlel 11 § i Ha:



SR YT & YN BT AWTS |2 1 O SJUTT | 8| HHR: HOR a1 -d o U & ST DT SUTd T 62
Options :

1.#9:
2. % 3
3. % 8:
4. 7

—_ = N

Question Number : 114 Question Id : 5406266343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the marks obtained by a student in 5 different subjects.

Subject | Marks
51 43
52 95
53 | 86
54 64
85 | 72

What are the total marks obtained by the student in the 5 subjects together?
Options :
1. ¥ 360
2. % 375
3. % 350
4. % 345

Question Number : 114 Question Id : 5406266343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & it arfereT Ue faemeff gRy 5 faftrer faway & urd siep &l <=iia 81



fasg | 3%
s1 43
52 95
53 86
54 64
S5 72

foemf grR1 37 5 fawdl & ured Hat oih T 2
Options :
1. ¥ 360
2. % 375
3. % 350
4. % 345

Question Number : 115 Question Id : 5406266344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of articles sold by a shop on 6 consecutive days.

]| 150
D2 175
D3 195
4 220
DA 2635
D6 | 263

What is the highest percentage increase in the sales on a day as compared to the previous day?
Options :



1. #® 17.21
2.9 2045
3. % 2342
4, % 19.57

Question Number : 115 Question Id : 5406266344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<t eft arferenT U g gRT 6 ST foAt H ot Wit g it @1 e & g 7

s | Ty
DI | 150
Dz | 175
D3 | 195
D4 | 22

D5 | 265
D6 | 243

forddl T &1 7 Ul fa o T o faepl o aiftieram ufcr=ra gf fat 82
Options :
1. % 17.21
2.%20.45
3. % 2342
4. % 19.57

Question Number : 116 Question Id : 5406266345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of 8 different products manufactured by a company. Numbers are shows as the percentage of total
manufacturing of these 8 products.



If the production of P3 is 3600, then what is the total production of P2, P4 and P6?
Options :
1. ¥ 9675
2. % 9425
3. % 9185
4. % 9315

Question Number : 116 Question Id : 5406266345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@ﬂgﬁﬁﬁ@ﬁﬁsﬁlﬁq&g@ﬁ%smaﬁ&wﬁ?{&ﬁ?ﬂ%l G &1 3 § T3 & Hd IATGH o U= & =4 J
TR

gfg P3 HTIATEGH 3600 &, Al P2, P4 TUT P6 BT Hdl ST fbal &2



Options :
1. ¥ 9675
2. % 9425
3. ¥ 9185
4. % 9315

Question Number : 117 Question Id : 5406266346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the amount of rainfall on 7 days of a week.

Amount of Rainfall

DI D2 D3 D4 D5 D6 D7

Days

What is the total rainfall on the given 7 days?
Options :
1. % 543
2.9 548
3. % 551
4. % 556

Question Number : 117 Question Id : 5406266346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

= fear mar Y o g & 7 ot  anf &t 7 ) awfar 21

DI D2 D3 D4 D5 D6 D7

=

fqu g 7 faft & oot awf fopaii 82
Options :
1. % 543
2.9 548
3. % 551
4, % 556

Question Number : 118 Question Id : 5406266347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of bats manufactured of 6 different brands.



90

Number of bats manufactured

S L L} P L]

Bl B2 B3 B4 BS5 B6
Brands

What is the average number of bats manufactured per brand?
Options :

1. ¥ 153.33

2. % 161.66

3. ¥ 166.33

4. ® 175.66

Question Number : 118 Question Id : 5406266347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fean a1 <us o 6 fafirs siTus & Saifed sl ot TeT & a8 |
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Options :

1. % 153.33

2. % 161.66

3. ¥ 166.33

4. % 175.66

Question Number : 119 Question Id : 5406266348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the amount of rice and wheat manufactured in 5 consecutive years.



23000 .
sgop 18000 20N e
............. *""""I-.-r ]18{:0 I3‘-1-GG
6000 6500 7200
- ——

A = Sum of rice produced in Y2, Y4 and Y5.
B = Sum of wheat produced in Y1, Y3 and Y4.

What is the ratio of A and B?
Options :

1. % 321:553

2. % 343 : 497

3. % 369 :598

4.¥ 317:590

Question Number : 119 Question Id : 5406266348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= f&am T a1 o= 5 BT aunt | Ianfad arad aul g & A &I &Rl g
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Options :

1. % 321:553

2. % 343 :497

3. % 369 :598

4. % 317 :590

Question Number : 120 Question Id : 5406266349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of pens and pencils sold by a shop on 5 consecutive days of a week.



105 98
& 08
15 16 1538
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DI D2 D3 D4 D5

B Pens OPencils

Which of the following statement is correct?

I. Average number of pens sold per day is 49.2.

II. Average number of pencils sold per day is 82.2.

II1. Pens sold on D3 are 60 percent less than the pencils sold on D2.

Options :

1.¥ Tand II

2. % Il and III
3. % Tand III

4. % I 1 and III

Question Number : 120 Question Id : 5406266349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Group Marks : 20
Is this Group for Examiner? : No

English Language & Comprehensionl

Section Id : 540626257
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626296
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5406266350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I goes wherever (1)/ I want with (2)/my friends. (3)/No error (4)
Options :

1. ¥ 1 goes wherever

2. % I want with

3. * my friends.

4. % No error

Question Number : 121 Question Id : 5406266350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



I goes wherever (1)/ I want with (2)/my friends. (3)/No error (4)

Options :

1. ¥ I goes wherever
2. # T want with

3. ¥ my friends.

4. % No error

Question Number : 122 Question Id
Orientation : Vertical

: 5406266351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Investors are required (1)/to open a bar on expensive,(2)/ gentrified coastal cities. (3)/No error (4)

Options :

1. # Investors are required

2. % to open a bar on expensive,
3. # gentrified coastal cities.

4. % No error

Question Number : 122 Question Id
Orientation : Vertical

: 5406266351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Investors are required (1)/to open a bar on expensive,(2)/ gentrified coastal cities. (3)/No error (4)

Options :

1. # Investors are required

2. ¥ to open a bar on expensive,
3. # gentrified coastal cities.

4. % No error

Question Number : 123 Question Id

: 5406266352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There have been (1)/reports of teenagers sneaking (2)/out of house. (3)/ No error (4)
Options :

1. % There have been

2. # reports of teenagers sneaking

3. ¥ out of house.

4. % No error

Question Number : 123 Question Id : 5406266352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There have been (1)/reports of teenagers sneaking (2)/out of house. (3)/ No error (4)
Options :

1. # There have been

2. # reports of teenagers sneaking

3. % out of house.

4. % No error

Question Number : 124 Question Id : 5406266353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I think it is likely that (1)/some young people harbor similar (2)/ beliefs about this risk. (3)/No error (4)
Options :

1. % I think it is likely that

2. % some young people harbor similar

3. # beliefs about this risk.



4. % No error

Question Number : 124 Question Id : 5406266353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I think it is likely that (1)/some young people harbor similar (2)/ beliefs about this risk. (3)/No error (4)
Options :

1. # I think it is likely that

2. % some young people harbor similar

3. # beliefs about this risk.

4. % No error

Question Number : 125 Question Id : 5406266354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am very proud (1)/ of which we have (2)/accomplished so far. (3)/No error (4)
Options :

1. # Tam very proud

2. % of which we have

3. ® accomplished so far.

4. ® No error

Question Number : 125 Question Id : 5406266354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am very proud (1)/ of which we have (2)/accomplished so far. (3)/No error (4)
Options :



1. % Tam very proud

2. % of which we have

3. # accomplished so far.
4. % No error

Question Number : 126 Question Id : 5406266355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose 'No improvement'.

She (went to) his left side and slowly haltered him.
Options :

1. # goto

2. % gone for

3. % goes to

4. ¥ No improvement

Question Number : 126 Question Id : 5406266355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose 'No improvement'.

She (went to) his left side and slowly haltered him.
Options :

1. ® goto

2. % gone for

3. # goes to

4. ¥ No improvement

Question Number : 127 Question Id : 5406266356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose "No improvement'.



(Hardly I had) walked two steps when she started crying.

Options :

1. ¥ Hardly had I
2. # Hardly he did
3. % Hardly did

4. # No improvement

Question Number : 127 Question Id
Orientation : Vertical

: 5406266356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose 'No improvement'.

(Hardly I had) walked two steps when she started crying.

Options :

1. ¥ Hardly had I
2. # Hardly he did
3. % Hardly did

4. ¥ No improvement

Question Number : 128 Question Id
Orientation : Vertical

: 5406266357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose "No improvement'.

(If T was) an author I would have written fictional stories.

Options :

1. ¥ Whether I was
2. ¥ If I were

3. % IfTam

4. % No improvement

Question Number : 128 Question Id

: 5406266357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose "No improvement'.

(If I was) an author I would have written fictional stories.
Options :

1. # Whether I was

2. ¥ If I were

3. % Iflam

4. ¥ No improvement

Question Number : 129 Question Id : 5406266358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose "No improvement'.

He was one of (the tallest man) who worked here.
Options :

1. # the more taller man

2. # the tall mans

3. ¥ the tallest men

4. ¥ No improvement

Question Number : 129 Question Id : 5406266358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then choose "No improvement'.

He was one of (the tallest man) who worked here.
Options :

1. # the more taller man

2. # the tall mans

3. ¥ the tallest men



4. * No improvement

Question Number : 130 Question Id : 5406266359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I will not recommend you to jump into conflict.
Options :

1. # these

2. ¥ this

3. # those

4. % thus

Question Number : 130 Question Id : 5406266359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I will not recommend you to jump into conflict.
Options :

1. % these

2. ¥ this

3. % those

4. % thus

Question Number : 131 Question Id : 5406266360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He is the one can get you out of this drama.
Options :



1. * whom
2. ¥ who
3. # which
4. % that

Question Number : 131 Question Id : 5406266360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He is the one can get you out of this drama.
Options :

1. * whom

2. ¥ who

3. * which

4. # that

Question Number : 132 Question Id : 5406266361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

After looking the matter, it seems more like a robbery.
Options :

1. ®* on

2. % up

3. ¥ into

4. % of

Question Number : 132 Question Id : 5406266361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



After looking the matter, it seems more like a robbery.
Options :

1. # on

2. % up

3. % into

4. % of

Question Number : 133 Question Id : 5406266362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Do not dry measure with liquid measure, because they are not the same.
Options :

1. # predict

2. ¥ confuse

3. # drink

4. % contradict

Question Number : 133 Question Id : 5406266362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Do not dry measure with liquid measure, because they are not the same.
Options :

1. # predict

2. ¥ confuse

3. # drink

4. % contradict

Question Number : 134 Question Id : 5406266363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I was absolutely miserable and was from an upset stomach and lack of appetite.
Options :

1. ¥ suffering

2. % enduring

3. # abiding

4. % sticking

Question Number : 134 Question Id : 5406266363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I was absolutely miserable and was from an upset stomach and lack of appetite.
Options :

1. ¥ suffering

2. # enduring

3. % abiding

4. # sticking

Question Number : 135 Question Id : 5406266364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.

Crocodiles are large

P. animals with powerful
Q. tails that are

R. used both in defence
S. and in swimming

Options :



1. ¥ PQRS
2. % QRPS
3. % RQPS
4. % PSQR

Question Number : 135 Question Id : 5406266364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Crocodiles are large

P. animals with powerful
Q. tails that are

R. used both in defence
S. and in swimming

Options :

1. ¥ PQRS
2. % QRPS
3. % RQPS
4. % PSQR

Question Number : 136 Question Id : 5406266365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

During the breeding

P. and vegetation in which she
Q. bird builds a nest of detritus
R. season, the female

S. buries about 5 to 7 eggs
Options :

1. # RSQP

2. ¥ RQPS



3. % RQSP
4. % QSRP

Question Number : 136 Question Id : 5406266365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

During the breeding

P. and vegetation in which she
Q. bird builds a nest of detritus
R. season, the female

S. buries about 5 to 7 eggs

Options :

1. # RSQP
2. ¥ RQPS
3. % RQSP
4. % QSRP

Question Number : 137 Question Id : 5406266366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. it was then given legal protection from hunters until it made an excellent comeback and limited hunting seasons were again established
Q. it disappeared from many areas where it was once abundant

R. the American alligator is found in the south-eastern United States

S. the alligator has been hunted for its hide, and its young have been sold in large numbers as pets

Options :

1. ¥ RSQP
2. % PSQR
3. % QRSP
4. % QPSR



Question Number : 137 Question Id : 5406266366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. it was then given legal protection from hunters until it made an excellent comeback and limited hunting seasons were again established
Q. it disappeared from many areas where it was once abundant

R. the American alligator is found in the south-eastern United States

S. the alligator has been hunted for its hide, and its young have been sold in large numbers as pets

Options :

1. ¥ RSQP
2. % PSQR
3. % QRSP
4. % QPSR

Question Number : 138 Question Id : 5406266367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Venerate
Options :

1. ¥ Revere
2. * Ordain
3. * Breathe
4. % Polish

Question Number : 138 Question Id : 5406266367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?



Venerate
Options :

1. ¥ Revere
2. # Ordain
3. # Breathe
4. #® Polish

Question Number : 139 Question Id : 5406266368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Outlandish
Options :

1. # Conventional
2. ¥ Absurd

3. % Pastoral

4. ¥ Effort

Question Number : 139 Question Id : 5406266368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Outlandish
Options :

1. # Conventional
2. ¥ Absurd

3. % Pastoral

4. * Effort

Question Number : 140 Question Id : 5406266369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Pine
Options :

1. # Clean
2. ¥ Crave
3. % Resolve

4. % Hate

Question Number : 140 Question Id : 5406266369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Pine
Options :
1. #* Clean
2. ¥ Crave
3. % Resolve
4. % Hate

General English2
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Group Id : 540626179
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Show Attended Group? : No
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Group Marks : 20
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Question Number : 141 Question Id : 5406266370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Lachrymose
Options :

1. ¥ Blithe

2. % Plentiful

3. % Loquacious
4. % Quick

Question Number : 141 Question Id : 5406266370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Lachrymose



Options :

1. ¥ Blithe

2. # Plentiful

3. % Loquacious
4. % Quick

Question Number : 142 Question Id : 5406266371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Epicurean
Options :

1. # Providential
2. # Slovenly

3. # Imprecision
4. ¥ Stuffer

Question Number : 142 Question Id : 5406266371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Epicurean
Options :

1. # Providential
2. % Slovenly

3. # Imprecision
4. ¢ Stuffer

Question Number : 143 Question Id : 5406266372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Amatuer

2. % Amature

3. ¥ Amateur

4., % Ameteur

Question Number : 143 Question Id : 5406266372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Amatuer

2. % Amature

3. % Amateur

4, % Ameteur

Question Number : 144 Question Id : 5406266373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Servent

2. ¥ Servant

3. # Sarvant

4. % Sarvent

Question Number : 144 Question Id : 5406266373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Servent
2. % Servant
3. # Sarvant

4. % Sarvent

Question Number : 145 Question Id : 5406266374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comittee

2. % Commitee

3. ¥ Committee

4. # Committey

Question Number : 145 Question Id : 5406266374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comittee

2. ¥ Commitee

3. % Committee

4. % Committey

Question Number : 146 Question Id : 5406266375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Transent

2. % Transeint



3. ® Trancient
4. % Transient

Question Number : 146 Question Id : 5406266375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Transent

2. # Transeint

3. % Trancient

4. ¥ Transient

Question Number : 147 Question Id : 5406266376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Entitative

2. % Intiative

3. ¥ Initiative

4. % Initative

Question Number : 147 Question Id : 5406266376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Entitative

2. # Intiative

3. % Initiative

4. % TInitative



Question Number : 148 Question Id : 5406266377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the Cards
Options :

1. # To run away
2. ¥ Anticipated
3. % Sanction

4. % Satisfaction

Question Number : 148 Question Id : 5406266377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the Cards
Options :

1. # To run away
2. ¥ Anticipated
3. ¥ Sanction

4. % Satisfaction

Question Number : 149 Question Id : 5406266378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bone of contention
Options :
1. % Worthless



2. % Without any hesitation
3. ¢ Point of an argument

4. % To succeed

Question Number : 149 Question Id : 5406266378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bone of contention

Options :

1. * Worthless

2. % Without any hesitation
3. ¥ Point of an argument

4. % To succeed

Question Number : 150 Question Id : 5406266379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Get one's feet wet

Options :

1. # To become serious

2. ® To criticize

3. ¥ To begin gaining experience

4. % To understand correctly

Question Number : 150 Question Id : 5406266379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Get one's feet wet

Options :

1. # To become serious

2. ® To criticize

3. % To begin gaining experience

4. # To understand correctly

Question Number : 151 Question Id : 5406266380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep your eyes peeled
Options :

1. # Searching someone
2. # Looking forward
3. ¥ Running away

4. ¥ To watch carefully

Question Number : 151 Question Id : 5406266380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep your eyes peeled
Options :

1. # Searching someone
2. # Looking forward
3. ¥ Running away

4. ¥ To watch carefully

Question Number : 152 Question Id : 5406266381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Thing which is not fresh
Options :

1. ¥ Stale

2. % Niche

3. # Defy

4. ® Moist

Question Number : 152 Question Id : 5406266381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Thing which is not fresh
Options :

1. ¥ Stale

2. % Niche

3. # Defy

4. # Moist

Question Number : 153 Question Id : 5406266382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Lesson to be learned from a story
Options :

1. # Information

2. % Moral

3. ¥ Heading

4. % Subject



Question Number : 153 Question Id : 5406266382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Lesson to be learned from a story
Options :

1. # Information

2. ¥ Moral

3. % Heading

4. % Subject

Question Number : 154 Question Id : 5406266383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

People who work together
Options :

1. # Worker

2. % Expert

3. % Superhuman

4. ¥ Colleagues

Question Number : 154 Question Id : 5406266383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

People who work together
Options :
1. # Worker



2. % Expert
3. ¥ Superhuman
4. ¥ Colleagues

Question Number : 155 Question Id : 5406266384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who goes on foot
Options :

1. ¥ Pedestrian

2. % Transmigration
3. # Eccentric

4. % Machination

Question Number : 155 Question Id : 5406266384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who goes on foot
Options :

1. ¥ Pedestrian

2. % Transmigration
3. # Eccentric

4. % Machination

Sub-Section Number : 2
Sub-Section Id : 540626298
Question Shuffling Allowed : Yes

Question Id : 5406266385 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Betel, also called paan, pinang, or penang, is either of two different plants whose leaves and seeds are used in combination for chewing purposes
throughout wide areas of southern Asia and the East Indies. The betel nut is the seed of the areca, or betel, palm and the betel leaf is from the
betel pepper, or pan plant. Betel chewing is a habit of an estimated one-tenth of the world’s population, and betel is the fourth most common
psychoactive drug in the world, following nicotine, alcohol, and caffeine.

The betel pepper is an evergreen vine with heart-shaped leaves, grown in shady tropical conditions. The plants are dioecious (individuals are
either male or female) and produce white flowers arranged in small spikes called catkins. The plant is most likely native to Malaysia but is
widely cultivated in areas in which betel chewing is popular. Male plants are grown more frequently than female plants and are propagated
asexually by cuttings. The harvested leaves are extremely susceptible to post-harvest disease and rapid spoilage, and farmers frequently incur
significant crop losses.

For chewing, a betel quid is formed by wrapping a small piece of the areca palm seed in a leaf of the betel pepper, along with a pellet of slaked
lime (calcium hydroxide) to cause salivation and release the stimulating alkaloids. In some cases cardamom, turmeric, or another aromatic is
added for flavour and stimulation, and some traditions add chewing tobacco. Chewing results in a copious flow of brick-red saliva, which may
temporarily dye the mouth, lips, and gums orange-brown and can stain the teeth. Betel nuts are a source of inferior catechu. Catechu’s chief
alkaloid is arecoline, a drug used by veterinarians as a worming agent.

Betel chewing is addictive, releasing a stimulant similar to nicotine and causing sensations of mild euphoria. Although it is important in many
cultural traditions of southern Asia, betel chewing is linked to a number of serious health problems, including oral and esophageal cancer, and is
of growing concern for health officials.

Sub questions

Question Number : 156 Question Id : 5406266386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. # Betel plant around the world

2. # Betel plant and addiction

3. ¥ The betel plant

4. % Nicotine addiction in Asia

Question Number : 157 Question Id : 5406266387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the passage, why do betel farmers incur financial loss?
Options :



1. % Because the plants are frequently attacked by locust and other pests.
2. % Because they are cut-short by the middle men.
3. ¥ Because harvested leaves are disease-prone and get spoiled soon.

4. % Because the demand for the harvest fluctuates every season.

Question Number : 158 Question Id : 5406266388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are dioecious plants?

Options :

1. # Plants where the male plants are grown more frequently than female plants.
2. % Plants that contain psychoactive substance.

3. # Plants that propagate asexually.

4. ¥ Plants having individuals that are either male or female.

Question Number : 159 Question Id : 5406266389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?
Options :

1. ¥ Arecoline is a drug used by veterinarians to induce labour in cattle.

2. % Chewing betel results in a copious flow of brick-red saliva, which may temporarily dye the mouth, lips, and gums orange-brown and can
stain the teeth.

3. #® A pellet of slaked lime (calcium hydroxide) is wrapped with betel to cause salivation

4. ® Betel is the fourth most common psychoactive drug in the world.

Question Number : 160 Question Id : 5406266390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “euphoria” is?
Options :

1. % Alarm

2. ¥ Rapture



3. % Capture
4. # Elastic

Question Id : 5406266385 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Betel, also called paan, pinang, or penang, is either of two different plants whose leaves and seeds are used in combination for chewing purposes
throughout wide areas of southern Asia and the East Indies. The betel nut is the seed of the areca, or betel, palm and the betel leaf is from the
betel pepper, or pan plant. Betel chewing is a habit of an estimated one-tenth of the world’s population, and betel is the fourth most common
psychoactive drug in the world, following nicotine, alcohol, and caffeine.

The betel pepper is an evergreen vine with heart-shaped leaves, grown in shady tropical conditions. The plants are dioecious (individuals are
either male or female) and produce white flowers arranged in small spikes called catkins. The plant is most likely native to Malaysia but is
widely cultivated in areas in which betel chewing is popular. Male plants are grown more frequently than female plants and are propagated
asexually by cuttings. The harvested leaves are extremely susceptible to post-harvest disease and rapid spoilage, and farmers frequently incur
significant crop losses.

For chewing, a betel quid is formed by wrapping a small piece of the areca palm seed in a leaf of the betel pepper, along with a pellet of slaked
lime (calcium hydroxide) to cause salivation and release the stimulating alkaloids. In some cases cardamom, turmeric, or another aromatic is
added for flavour and stimulation, and some traditions add chewing tobacco. Chewing results in a copious flow of brick-red saliva, which may
temporarily dye the mouth, lips, and gums orange-brown and can stain the teeth. Betel nuts are a source of inferior catechu. Catechu’s chief
alkaloid is arecoline, a drug used by veterinarians as a worming agent.

Betel chewing is addictive, releasing a stimulant similar to nicotine and causing sensations of mild euphoria. Although it is important in many
cultural traditions of southern Asia, betel chewing is linked to a number of serious health problems, including oral and esophageal cancer, and is
of growing concern for health officials.

Sub questions

Question Number : 156 Question Id : 5406266386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. # Betel plant around the world

2. % Betel plant and addiction

3. ¥ The betel plant

4. % Nicotine addiction in Asia



Question Number : 157 Question Id : 5406266387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, why do betel farmers incur financial loss?

Options :

1. # Because the plants are frequently attacked by locust and other pests.
2. % Because they are cut-short by the middle men.

3. ¥ Because harvested leaves are disease-prone and get spoiled soon.

4. # Because the demand for the harvest fluctuates every season.

Question Number : 158 Question Id : 5406266388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are dioecious plants?

Options :

1. # Plants where the male plants are grown more frequently than female plants.
2. # Plants that contain psychoactive substance.

3. # Plants that propagate asexually.

4. ¥ Plants having individuals that are either male or female.

Question Number : 159 Question Id : 5406266389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?
Options :

1. ¥ Arecoline is a drug used by veterinarians to induce labour in cattle.

2. # Chewing betel results in a copious flow of brick-red saliva, which may temporarily dye the mouth, lips, and gums orange-brown and can
stain the teeth.

3. % A pellet of slaked lime (calcium hydroxide) is wrapped with betel to cause salivation

4. % Betel is the fourth most common psychoactive drug in the world.

Question Number : 160 Question Id : 5406266390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “euphoria” is?

Options :
1. # Alarm
2. ¥ Rapture
3. % Capture
4. % Elastic
General Hindil
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5406266391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Weg &1 TN fowdg wifoma|

ool
Options :

1. # 49l + o
2. ¥ Y + ol
3. % gH +olq
4, % 4olol +

Question Number : 161 Question Id : 5406266391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTq reg 1 Y fawe HIfT|

ool
Options :

1. % 49 + ol
2. ¥ Y + ol
3. % JH +olq
4, % Jolol + -

Question Number : 162 Question Id : 5406266392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT JHN 1 BT




YT

Options :

1. % gg Ju™

2. % JUTY AN

3. ¢ gt HId AN
4. % HHYRY JAY

Question Number : 162 Question Id : 5406266392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU 7T e T YA JTd BT |
YT

Options :

1. % gg gAY

2. % qQEY O™

3. ¢ 3l HId JUY
4. % HUYRY AT

Question Number : 163 Question Id : 5406266393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prfifee & & fre v & Suf 8T 22
Options :

1. % 3{Udiq

2. % RN

3. % YHId

4. ¢ 3g

Question Number : 163 Question Id : 5406266393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Froafefed o 9 ford 2rea & Su—l 781 &2
Options :

1. # 3fUdlq

2. % RS

3. ® JHId

4. gl

Question Number : 164 Question Id : 5406266394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TN Tsg B! Warad 99 & [oTe fohd Tead 1 UaiT g

3]
Options :
1. 3l
2.% %
3.% 3%
4. % g

Question Number : 164 Question Id : 5406266394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T4 rec &) TWarEe S & T {6 U o1y g

3ol
Options :
1. ¥ 31
2.% 3%
3. %
4. %3



Question Number : 165 Question Id : 5406266395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad & 9 o1 1 Sfdarae I3 &7 3aTer0 87
Options :

1. % fAgur

2. % HYR

3. % fioN

4.+ i

Question Number : 165 Question Id : 5406266395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafEd & & B 91 Sfardd ST BT SSTeUl 32
Options :

1. % fgor

2. % HYI

3. % fierg

4. o=

Question Number : 166 Question Id : 5406266396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U 9T H {5 UBR &1 a4 8, J1d P

ol 1 B 3T ol
Options :

1. ® Fygaras

2. % [ASara®

3. % UYdrAddH




4, ¢ JFYTaIH

Question Number : 166 Question Id : 5406266396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77T 9Ty & for g UPR BT Wd1H ©, J1d Piferg |
ot &1 I 31T Tl

Options :

1. % (Hygarae
2. % [ASara®

3. % UYdrdad

4. ¢ YIS

Question Number : 167 Question Id : 5406266397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TTu arer & fopam faRivor ofk fadiw &, 3ird iy
Ho 3R HgTH AN I 3R Jufiid sgagR &id & |

Options :

1. % g faxwo 3R g favre
2. % i fa=o 3R & o=
3. % TR fa=Rivor &R <fiF fo=rs
4.« IR fa=mor 3R g favre

Question Number : 167 Question Id : 5406266397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T are & fop ) faRivor ik fodw &, yrd il
YA 3R HEH AN I 3R TUfid SId8R &id g |




Options :

1. % 3 foRiwor 3R &) favrsg

2. % fiT faRiwor 3R &) fadi
3. % IR faQmor oik i favs
4. ¢ IR faRiwor 3R ) fagsy

Question Number : 168 Question Id : 5406266398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7w gy 7 foban 31d BT
dg UgTe IR gHI 8

Options :

1. ® gglddh
2. ¥ qABIAH
3. ® SIS

4. % Hgem

Question Number : 168 Question Id : 5406266398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TTq arerr © fopan 31d S|
I UGS IR gHI 7

Options :

1. ¥ gladh
2. ¢ qABITD
3. % qHASIYD

4. % T

Question Number : 169 Question Id : 5406266399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafefed 7 9 faqzh wreg 31d SifvT
Options :

1.« AR

2. % @i

3. % gl

4, % gqdl

Question Number : 169 Question Id : 5406266399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad # @ o=t wsg 31d S

Options :
1.« AR
2. % WRiel
3. % ggt
4. % Sqdl

Question Number : 170 Question Id : 5406266400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Wsg 1 yaigar I1d S|

3o}
Options :
1. % ¢
2. % ql1d
3. % fheR
4. ¥ Y

Question Number : 170 Question Id : 5406266400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3T TN Teg 1 UTTgaT= Jd SifeT|

3o}
Options :
1. %3
2. % qldd
3. % feR
4. ¥ YR

Question Number : 171 Question Id : 5406266401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeH s F1d P
3Ty

Options :

1. % fauify
2. ¢ AN
3. % fgaiufy
4. % Sy

Question Number : 171 Question Id : 5406266401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Tsg o1 faT Wsg J1d P
3Ty

Options :
1. % fauify
2. ¢ S



Question Number : 172 Question Id : 5406266402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g ad- &1 994 Sifod|
Options :

1. ¢ Ulérga

2. % Ugiidg

3. % URiigg

4. % Uiég<q

Question Number : 172 Question Id : 5406266402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 g ad- &1 994 Hifod |
Options :

1. ¢ Uférge

2. % Uafiga

3. % URidq

4. % Uiag<q

Question Number : 173 Question Id : 5406266403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U areaiy & fore I e &1 T g
R YA & 3R BT I B

Options :

1. % ymdar




2. ¢ amaar
3. % ymfart
4. % Yffaar

Question Number : 173 Question Id : 5406266403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e areir & e I Weg &1 T P
ol YA & SR BT Bl

Options :

1. % ymdar
2. ¢ amfadr
3. % YmfurRy
4, % ffraar

Question Number : 174 Question Id : 5406266404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71T <o i 1 T Wsd JH A BT

TM01-IT0g

Options :

1. % A -
2. % gU.gId

3. % TULgY]

4. ¢ g A

Question Number : 174 Question Id : 5406266404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T g T o1 Ta! e T J1d HITOT|



TOLIT0Y

Options :

1. % 9 A
2. % gt

3. % U9y

4.« gEg-f=m gy

Question Number : 175 Question Id : 5406266405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu 7Tu g B e =i @t ofd St
s 30T ITd GIgR T |

Options :

1. % fobdHl
2. % P35 IR
3. ¥ dR-dR
4, % Th dR

Question Number : 175 Question Id : 5406266405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U are & Rad ®IM &1 i Siforg
e 30T ITd GIexT Tl

Options :

1. % foodHl
2. % 3 IR
3. ¥ dR-dR
4, % Uh dR




Question Number : 176 Question Id : 5406266406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed § @ H1F 91 e g TE TR 82
Options :

1. % T3 =TT Y-S grg

2. % ROLRON = F-A19

3. ¢ qUIATY = fae1-dR

4. % IIUY-IIHE = IRIGI-IR WY a1l

Question Number : 176 Question Id : 5406266406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o 9 o a1 Weg T TE! T 32
Options :

1. % TG = T AL A

2. % TRVl = d-19

3. ¥ QUIAT = fde1-dR

4. % TIJUY- TS — IRIST-IR WY aTa

Question Number : 177 Question Id : 5406266407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7T area & Rad ®iFE &1 gfd Sifr|

ey HYHH od ™
Options :

1. % 3fAd

2. v 3Fd

3. % 3l

4. % 3



Question Number : 177 Question Id : 5406266407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 ar & Rad ®iFE &1 gfd Sifer|

WHy  HYHH od ™
Options :

1. % 3fAd

2. ¥ 3d

3. % 3falt

4. % 3T

Question Number : 178 Question Id : 5406266408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 Tsg 1 foiv 1 BT
CGl

Options :

1. % ilfei

2. ¢ Gfeei

3. % gYS o
4. % JUYIHT

Question Number : 178 Question Id : 5406266408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T g &1 o Jrd Hiforg
&l

Options :



Question Number : 179 Question Id : 5406266409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad o 9 HF 91 UwhaeH &1 3aTexul Tl 67
Options :

1. ¢ JHRR

2. % gdl

3. % q&t

4. % dd

Question Number : 179 Question Id : 5406266409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEffed & & S 91 Udhdaad &1 3G16R0I ol 67
Options :

1. ¢ HHRR

2. % MUl

3. % ol

4. % dd

Question Number : 180 Question Id : 5406266410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad & 9 Y aTer &1 w9+ Diforu|

Options :
1. * JE AT W P AT




2. ¢ M A YTl DI HATGAR |
3. % GETH S Y S AT HR TG ]
4. % 74 (U gl & ol T4 &1 &R faar|

Question Number : 180 Question Id : 5406266410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad B ¥ Y aTe &1 99+ Diforg|
Options :

|. % g AT W B 1 g

2. ¢ M A Yol Bl HYT AR

3. % GECH P YUY B TAT HR @]

4. % 1A 30! gl & o I &1 8R e
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Question Number : 181 Question Id : 5406266411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 SF 91 a1 HHTH YT $T 3GI6RUT 67
Options :

1. % JUa- § Gt Raeiv|

2. T 3151 TS §ict S|

3. % g Tl 715 ghTl|

4. % I STSIR o 381 §1fT |

Question Number : 181 Question Id : 5406266411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &9 91 a/e YU HiTSIhTd BT IETER 82
Options :

1. % IUaq U e Rt

2. ¢ T TS 3T dicl S|

3. % gg 9ol T gRTT|

4. % IfA1 TR o 361 gh

Question Number : 182 Question Id : 5406266412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TEw aTw g A Y@Tiehel 1T R8T Weh a1 %9 &, FT hITeiT |

He gz e IR IaE=T AT b
Options :

1. ¥ HYH

2. % 3dH

3. % TYyH

4. % 3

Question Number : 182 Question Id : 5406266412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEw T arer A Y@ifehe #19T e Wb ol J89 &, FATd hifsiT|

HoT gt &% IR ddEsT 4 ¢
Options :

1. ¢ HOH

2. % 3dH

3. % UYy

4. % 3

Question Number : 183 Question Id : 5406266413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq 7T areRs 1 gef Jd PifeTT|

Sl garId g gl

Options :

1. % A gy
2. % gul g

3.« g 1Y T&f



4. % 3quf g

Question Number : 183 Question Id : 5406266413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRy b1 Uef J1d BT

Sl garad g gl

Options :

1. % g Uy

Question Number : 184 Question Id : 5406266414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 & 91 a1 SRS gi BT IaTexul 181 57
Options :

1. % 0 SRYdTe ST3l|

2. % Sed] die Srefl|

3. % IRT P Seal PR G|

4.« 9 e S g |

Question Number : 184 Question Id : 5406266414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 & 91 are smade gy &1 3arerur el 82
Options :

1. % qH 3RYdTd S|

2. % Segl dre Smadl|



3. % TR PHTH Slec! HR Gl
4. ¢ JH fagTerg SaT 3|

Question Number : 185 Question Id : 5406266415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad o 9§ &9 91 a/gd HTaaTed &1 3EeRU 67
Options :

1. ¢ P81 Y gl ol ol

2. % H ol ferad|

3. % g1 8] S|

4. % g 4 W TDH ST

Question Number : 185 Question Id : 5406266415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & o9 91 /e Hiadr=d &7 IS8R0 82
Options :

1. ¢ B8 W Uel ol ol

2. % B ol forad

3. % 1 ol drAdTl

4. % g 9 W IHST|

Question Number : 186 Question Id : 5406266416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U 9190 T YHR J1d Hifod |

< glel A ugl 3maT|
Options :
1. % IAd




2. % fofyg

3.« ggad
4. % JUdIR]

Question Number : 186 Question Id : 5406266416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTeRT T UDR F1d BT |

o1 &I R gl ST
Options :

1. ® I

2. % foigd

3. g

4. % JUdIR]

Question Number : 187 Question Id : 5406266417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl § 9, 39 faded o1 9o 3 1t fT 7T geTer & 31 &1 a9y U ¥ oJad HRal g |
el T T ST

Options :

1. % GBI &1 YT H Tl BT T g1

2. JFIATH 3¢9 JH aTd BT GHE 8T

3. % fagrHl & 9y o T &1 9 g

4. % 4@l gRI faen &1 gor g1

Question Number : 187 Question Id : 5406266417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 5 9, 39 fawed &1 99 o S fau 0 GgTak & o &1 a9§ ¥ ¥ oad Rl g




il T BT ISl

Options :

1. % GBI &l U H Tl DT JHTH g |

2. ¢ SRIFATT T e M dTel BT JHT g1 |
3. % fagHl & 9T & 98 &1 I9= g1l

4. % 7@ gRI fa= & gl g1

Question Number : 188 Question Id : 5406266418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec} & I & forw IRrd i b1 = i
fo=1 ufvem & Iwmadn el fHedt

Options :

1. % Sod DI {1 T TERI

2. ¢ 5 Gier fo TSl ek U & Us
3. % 9§ ¥ ¥d e

4. % e 0 o I

Question Number : 188 Question Id : 5406266418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T Srec] o U & ot Ifrd Apifed o1 o= Sifog |
fom afkym & % ardn g fera

Options :

1. % Sod Dl {1 T HERT

2. ¢ f5F @i e urgat TR U 1 U6
3. % S Y Xd Adba

4. % A TN TR P




Question Number : 189 Question Id : 5406266419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 5 9, 39 fawed &1 99 o S faU 0 GgTak & 31l &1 a98 T ¥ ad Rl 5|
3ifeft & S g

Options :

1. % QU YT BT

2. % TRMHA A G

3. % 3 g1 1 IUferd gl
4. ¢ AR T U BT

Question Number : 189 Question Id : 5406266419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweat & ¥, 39 fawen &1 7997 & 57 fou U geTak & 31 ol Id9% U § odad Rl g |
aifeft & S g

Options :

1. % QU YTy gIAT

2. % TRMHA A B

3. % 3 g I IUferd gl
4.« AN T STA B

Question Number : 190 Question Id : 5406266420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu 7w g © for U & formH foig o1 SUdT foban T 8, S9! ugaH Siforu|

Slo I U1
Options :
1. % AHddRul



Question Number : 190 Question Id : 5406266420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U 9T | forg UeR & o fog &1 Suan fovan T 8, S9! U Sl

Slo el YIS
Options :

1. % 3{dcdUl
2. % PIYD

3. ¥ AUg

4. % oy fog

Question Number : 191 Question Id : 5406266421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofoied o ¥ sex fug s a1 g2
Options :

l.% ...

2, % «»

3 ®

4, & .-

Question Number : 191 Question Id : 5406266421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed 7 @ snew fog S A e?

Options :



I.% ...
2‘ oo
3‘ .

4. .-

Question Number : 192 Question Id : 5406266422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ gt | fgfoiRad | 9 foog favm g &1 SuanT foear S, 3961 T Sifoig |
Are Mura ffver anfe

Options :
1.v,
2. %

3. % -

4, % .

Question Number : 192 Question Id : 5406266422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ gt | fgfoiRad | ¥ foog favm g &1 ST foear S, 3961 T Sifvig |
Arg Mura ffver enfe

Options :
1.v,
2. %

3. % -

4. % :

Question Number : 193 Question Id : 5406266423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fau U Trec & g & forw I iR b1 = v

YT T ST °T
Options :

1. ¥ T™ Hfad 9gd AiadT g |
2. % g3 Afdd 9gd ST g
3. % it ufed HH Sadr g |
4. % @RI I SehT ST B

Question Number : 193 Question Id : 5406266423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T Trsal & g & fore Ifad didifad &1 ag4 S|

YTYT AT ST IT

Options :

1. ¢ T afdq sgd Siadr g
2. % §3T Afdd 9gd ST |
3. % i safdd HH didar g
4. % GRIAT I geopl gial o

Question Number : 194 Question Id : 5406266424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 6 9§, 39 fawed &1 999 o3 Sl fau 0 GgTak & 3 &1 a98 ¥ ¥ oad Rl 5|

EIEE S IE R I Ko

Options :

1. % ¢ A U HId Afad BT A

2. % ¢ AN AT 8] SId

3. ¢ 3(UHT G BT QY Rl IR ST
4. % QT T HaT o1 514




Question Number : 194 Question Id : 5406266424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl § 9, 39 fawed o1 9o 3 o f3T 7T geTer & 31 &1 Jd9§ U ¥ oJad HRal o |

AT 7 S 3 ]

Options :

1. % ¢¢ 3T U $1d Afdd &1 Ara-T

2. % ¢ AN AT 8] S d

3. ¥ 3O SHRIS BT G GERI TR STl
4. % QT 3T HAT T S

Question Number : 195 Question Id : 5406266425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 5 9§, 39 fawed &1 99 o S faU 0 GgTak & 31 &1 a9§ ¥ ¥ oad Rl 5|
T dl AR HWR § HH1 SI_

Options :

1. % 3URTY Peh [T

2. ¢ TS a1 IR SR Y 3 fg@m |
3. % 3{URTY hRch GDh=HAT|

4. % IORTY Hh AT

Question Number : 195 Question Id : 5406266425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR 9wl § 9, 39 fawed o1 9o 3 1t f3T 7T JeTer & 31 &1 a9y U ¥ oJad HRal o |
T @ IR SR I AT SR

Options :




1. % 3URTY HReh fSUAT
2. ¥ T al (RIS SR Y s feam |
3. % 3ORTY HRh G|
4. % WRTY FRp AT

Sub-Section Number : 2
Sub-Section Id : 540626301
Question Shuffling Allowed : Yes

Question Id : 5406266426 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

TRITRI 1 YD Ug 3R U 7T Ueff & S<R ¢ |

YRA H TSE & 916 $S oD H o IRBR] IUhH! B! fafled &1 B THAM 811 3RY 81 T URA H ol Ardeli-e &7 Hi
SHIRT! Pl ol WTTHd H RIFIIRT B &1 UfehaT 8 | HRA I Yd Wi, STHHT, fore onfe =1 59 ufehan & dgd uRacdd @ 8k enfdfe
3™ &1 T1fd B fig B H I 38 8 | HRd | Foiieur o1 fafda ufafsharg ik ufkumy Sam &) fird g1 Fofiero 3 TReR & g &)
HH A1, fad g1 o1 JHIYH, SEaR JaTE U BT 3R RIS Tgah! B AT A SIS THd 81 UdT g | Afee FRotieor 3 Jarsit
! T Dl HH a1 g | Pl B Feras) 3R TR avf ddb Jarsii g aH & faavur & SRyt aar 39T Ted 981 ToRIAS el g1 §fdhT
Ya, g, A1 9 W $© T IUHH &, S8l o= dull 9 9¢ 87 8 foradt srg fadr &, fawiu 3R wftd gae # < g3

Sub questions

Question Number : 196 Question Id : 5406266427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frSiieor &1 &7

Options :

1. % TRBRI IYDHRUN T GIRT AT

2. ¢ WAWHD &F BI 3b1Al B! (Al Wi & RITIIRT B Bt Ui
3. % Ao &F D1 SHIRT] DI §G PR B! Ulehal

4. % Uh YHR i TR Y

Question Number : 197 Question Id : 5406266428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR o 3TYR W, YR ¥ g4 5y o <=1 & iR o1 Uferar oy g1 gt &
Options :

1. % 3T, i, Urfebed™

2. % U, T, 3ERThT

3. ¢ id, S, foret

4. % U, T4, Sl&0r SRk

Question Number : 198 Question Id : 5406266429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H Frofarur & 3 uioms e &t fird
Options :

1. # JhRIHD

2. #& JhRIHD

3. fafgd

4. % 3fdd IHhdA

Question Number : 199 Question Id : 5406266430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fystiaur A forae! o fasar g2
Options :

1. ¢ ATl & Turadl ol

2. % DIFl B

3. % YTghI DI HBAT DI

4. % THR DI Afckrdl bl

Question Number : 200 Question Id : 5406266431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiyd & @ & a1 Suded T &1 3fud e 72



Options :

1. ¢ dadl iR
2. % Frao-b &
3. % iy sifoggw
4. ¥ IHRI IUHH

Question Id : 5406266426 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

TRIRT I AFYAH Ug 3R U T T8l & SR ¢ |

YR T 3MSIE] & §1G $S GRD! H 6] WBR] IUHHI DI AN &3 § THAM BT RY 8 T HRA H Foiienu] Ardei-id &5 Bt
SPTA! Pl foit W H RIFTIRT B Bt Ufehan 8| 4R I gd 19, ST, fsie 3nfe =1 59 wfthan & agd uiad= o iR anfifep
T ot 71fd ) <fig H A w8 § | YR § e ot fifda ufaferant ik afkoms 3am &) fird § 1 ool @ WReR & S &
&H B, [AdTT g1 &7 gAY, S8R JaTE UG HRAT 3R USRS Ugeh! bl Ao T ST YHd 81 Udl g | Afe- Fofieror 3 Jaraif
&1 TG DI HH fHa1 g | B! | Ferasl 3R TR aFf ddb Jarsii g arH & faavur & SR adl 39T Tey §81 THRIAS el g1 §fdh
T, RrefT, S 9 W $© T SUBH §, 58] (o0l doll § 96 8T & oy $ad 9 &, faimoe 3R w@fta qee A gfg g3

Sub questions

Question Number : 196 Question Id : 5406266427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EEIEZUEIEL

Options :

1. % IRBR] UGN DT GERT ATH

2. ¥ HIAGI-D &7 Dt SHIRAl D! ol W T RIFART B Bt Uichar
3. % AWl &3 P1 SHISUl bl §G DI D Ufchdl

4. % Toh YR P AR Y

Question Number : 197 Question Id : 5406266428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & YR TR, YRA W d ford fordd <=1 6 Foiianxur &1 Ufehdn 3Ry g1 gt o



Options :

1. % AP, I, Tifhed
2. % SUH, 9, 3ERIPT

3. ¢ Y, ST, faea

4. % UM, ¥4, Gla0 HIfkar

Question Number : 198 Question Id : 5406266429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H Mol & »8 uRomy ¢&q &1 e 82
Options :

1. ¥ gPRIHAD

2. % JORIHD

3. fafgd

4. % 3fAd IBhdA

Question Number : 199 Question Id : 5406266430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fsiRur o forgen! & fovan g2
Options :

1. ¥ Yd13{l Dt Uraar bl

2. % Bl DI

3. % YIgh] bl AT DI

4. % TIDHR B! YRl DI

Question Number : 200 Question Id : 5406266431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o @ o a1 Iuded T &1 Ifd e 72
Options :

1. ¢ daa fAsiiaur




2. % ol &
3. % fAfya srfogawn

4. % IRPRI IUHH




